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1.

Which of the following compounds does
not answer the'icdoform’ test 7

(A) CHLCH{OH)CH,CHy

{8}, CHLCH(OH)CH,

(C) CH4COCH,

(D) CHLCOOW

Which of the following observations is

incorract with regard 10 ethanal 7

(&) It restores pink color gulckly to
Schifl's reagent

(B) 1t gives silver-mirtor on treatment

with -ammeoniacal silver nitrate

solution

It reduces Fehling's solution 1o

form red precipitale of cuprous

oxide

It gives a sweol smell of an ester

when heated with ethanolc acid in

prasence of an acid

(&)

()

While preparing Lassaigna’s reagant,

the organic compound e fused with

sodium metal. Here, the metal sodium

is used mainly because

(&) sodium is effective to bring abow!
destructive reduction of orgamc
compounds fermning ionicinorganic
salis fike sodium cyanide, sodium
sulphide and sodjum halide

(B) sa is a soft and shining metal

{C) sadiufs acheap metal and easily
available

(D) sodium readily reacls with water 1o

form soluble sodium hydroxide

Which of the following organic
compounds will- give fouling smell ot
isocyanide on  heating with

trichloromethane and alcoholic
potassium hydroxide 7

(A) p-Toluidine

(B) Glycine

(C) N-Methylaniiing

(D} N-Methyl-o-methyianiline

5.

‘Silver salt” method s used for the
determination of molacular mazsa of
(A) Aniline (B) Benzoic acid
(C) Ethyl benzoate (D) Benzamide

A liquid organic compound that
decomposes al its boiling point, can
conveniently be purified by

(A} simple distillation

(8] wvacuum distillation

() fractional distllation

(D} all the above methods

Sodium Tuslon exiract prepared from
‘sulphanilic acid' gives blood-re

coloration with the reagent

(A) Mohr's salt
{B) Ferric chioride
{C) Silver nitrate -
. | ; Iy~
(B2) Barium chlonde =
Which one of the following statements
is  Incorrect with respect
“Poly{acetylens)” 7

{A) Polyiacetylene)-is symihesized

the polymarization of acetylen
using Ziegler-Natta catalyst

In polylacetylene), pragseance
conjugaied double bonds caus
Il 1o conduct alectricity

It is used in the preparation
electrodes for batleries, p
measuring devices and electro
devices

(D) Itis nota synthetic metal

B)

(€)
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Which of the following compounds does
not answer the'icdoform’ est 7

(A) CHLCH{OH)CH,CHy

By CHCH{OH)CH,

(G2 CH QGG‘L‘H

(D) lr:;r-pau:::t::u:::u-r3

Which of the following observations is

incorrect with regard o ethanal 7

(A} It restores pink color quickly to
Schiff's reagent

(B} It gives sitver-mirmor on treatment

with ammoniacal silver nitrate

solution

It reduces Fehling's solution to

form red precipitate of cuprous

oxide

It gives a sweel smell of an estar

when heated with ethanaic acid in

présanca of an acid

(<)

e}

While preparing Lassaigne's reagent, ‘

the arganic compound is fused with

sodium metal. Here, the metal sodium

15 used mainly because

(A) sodium is sifective 1o bring about
destructive reduction of organic
compounds forming lonicinorganic
saits like sodium cyanide, sodium

sulphide and sodium halide
(B) &.a* a soft and shining metal
{C) sodium s a cheap metal and easily

avallable
sodium readily reacts with watar to
form soluble sodium hydroxide

(O}

Which of the following erganic
compounds will give fouling small of
ispocyanide on  heating with

trichloromethaneg and alcoholic
potassium hydroxide 7

(A) p-Toluidine

(B) Glycine

{€) N-Methylaniline

(D) N-Methyl-c-methylaniling

o

‘Silver salt’ method is used for the
determination of molecular mass of
(&) Aniline (B) Benzoic acid
{G) Ethyl benzoate (D) Benzamide

A liguid organic compound that
decomposas at s boiling point, can
conveniently be punfied by

(A) simple distillation

(B) wvacuum distilation

(C) tractional distillation

(B} allthe above methods

Sodium fusion extract prepared from
‘sulphanilic acid’' gives blood-red
coloration with the reageant
(A) Mohr's salt
(B8] Ferric chloride
{C) Silver nitrale -~
. : iy~
(D) Barium chloride =

Which one of the following siatemean
is- incorrect with respect |
"Paly(acetylene)” 7

(A) Polylacetylene) is synthesized
the polymerzation of acatyle
using Ziagler-Natia catalyst

In polylacetylene), presence
conjugated double bonds ca

it o condoct elecincily

It iz used in the preparation
alactrodes for batteries, p
measurng devices and electr
devices

{0} Itis not a synthetic metal

(B)

C)
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(A) p-Toluidine
(B) Glycing
(€} N-Methylaniline
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9.

100

1.

12

Which one of the following statements
i3 wrong aboul Thermoplastics’ 7

{A) They have ordered crystalline
regions and amarphous
non-crystalline regions or bath

Theyare hard at room temperature
bul on heating they become soft
enough {o be molded

They possess giass transiion
temperature, - above which they are
rubbeny in nature

Thay are insoluble in common
arganic solvants and infusibla

(B)
(c)
(0]

Matural rubber obtainad from the rubber
trea, 'Hevea Brasiliensis' consists of
1A} elspolylisoprene)

(B) trans-poly{isoprena)

(C) poly(isobutylens)

(D} polylchioroprena)

A polymer sample contains two
monodisperse sysiems with molecular
massas 30000 and 50000. I its waight
average molacular mass s 42500,
what would be the ralio inwhich the two
monodisperse systems l[r_y..l mber of
molecules) are present in it

(A) 171 (B) 1:2

{C) 1‘ D) 1:4

Which af the following statements is
Incorrect with regard to o -amino acids 7
(A} An a-amino acid is a carboxylic
acid that confains an amino group
atits o position

They are the building blocks of
peptides and proteins

An a-amino acid may exist as a
2witterion under suitable conditions

Except glycine, all gther ¢.- amino
acids are optically inactive

(B)
()

(D)

13.

14.

15,

i6.

-

The isoslectric pointof alanine is 6.0. 1f
its PR, value is 2.3, then its PK,, value
will be

(A) 7.0
(C) 8.7

(B) 3.7
(D) 8.3

Tha critical micelle concentration is
(A) the concentration al which the tru
solution is formed
concentration at which micatl
formation starts from surfact
molacules

the concentration at whic
dissociation of suractant starts
the concentration at whic
surfactan! precipitates from |
solution

(B}

{C)

(B

Which of the following staltements |
correct for glucose ?

{A) It restores pink color of Schiff
reagent readily

It reacts with 2 4-DNP fo gi
reddish brown precipitate '
Glucose penta .does n
react with hydro ine

It reacts with sodium bisulphite
ammaonia o give respactiv
addition compounds

(E)
(C)

(O}

The presence of primary alcoholic g

in the siruciure of glucoss s confirmed
(A) its oxidation with bromine water
give glucanic acid which on furth
axldation with concentrated il
acid lo yield glucanc acid

the faot that a solution of gluco
in an inerl solvent becom
effarvescent upon the treatmea
with freshly cut sodium

the faict that a solution of it becom
colored upon the addition of neut
ternc chioride soluthon

(D) its reaction with Tollen's reagen

B

(C)
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'Hevea Brasiliensis' 18 8 78
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(A} cispoly(isoprene)

(B) trans-poly(iscprena)

(C) poly(isobutylens)

{0 polyichloroprensa)

U A A9 o) e (AT
wafn & Famsnt anfvas sragae 20,000 3
50,000 2 | ofe e shwa S=m ivas
AW H 42,500 B, A1 3@ o A

Eﬁmﬁ%ﬁﬂzﬁi{ﬂﬁﬁ'ﬁﬂ’]ﬁ!ﬁmﬂ
TR ?

(A) 1:1 B) 1:2

(C) 1i3 ‘.4

t:-ﬂﬁﬁ%*ﬁ*ﬁﬁﬁﬁﬁm

T & 7

(A} ST ST AT S e T &
Tored ek o filtifey o caf g B 2

(B aaﬁgzﬁaafhﬁrawmmﬁ@m
(ot

(C) T yiefeatn 0 a-9wfE s
et % sy dwas

(D) TSR & ST weht Ji o -3
e i kg B B

13.

14,

15,

16.

JDD-66/PGT-CHEM/ TIER-II/X-15
Sl 1 sgEedE g 5.0 % | 9f

?.ifnﬂarpﬁmwz.a-ﬁ.ﬁ’rmmﬂnﬁ
(A) 7.0 (B) 37
(C) 9.7 (D) 8.3

e fee (micelle) Bz 2

(A} =% TTEET R we EE S 2

(B) T au H forg wigm w fde
1 T ERALE

(C) Trae 377 8 Farm wiga T sawm
IFEAE

(D) FrETH For g RS2 AR
FAAT B

e & fom bl a S e w2

(A) == RE & sl w1 e i e
CAran 6

(B} 2, 4-DNP @ sifafws =& 8 =%

| AT SR A

(C) wmE T 2R @
srhrfen T =

(D) =% "ifem amaske s smfen #
wAPTRET T B afit svoTr-srgn
a7t At 2 §

o o WA § Wi SeniEi

HER B ST G0 T B

(A) THE AR WAL B ST @
Tl S Tl & T S Ees
ATE T 3t o T STt e
Tepeh i S T B

By ow smfems ? e, sife Faemgs
IR W1 EIE A1 e g i |
wfvfF S0 A g a8

(C} g7 72 2 5, Sarh His wis
i e S s e iy A

(D) =R e o T 3 sl s

Page- 6

GETIT ON

® Google Play



https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

A testbook

JDD-66/PGT-CHEM/ TIER-IVX-15

41

18.

20.

Which of the following reaction s net
possible during catalytic reforming of
petral in petroleum indusing 7

(A) CH4CH,),2CHy — CH4(CH,)CH,

+CH5(CH,),CH = CH,
(B) Methycyciohexane —» Toluene + 3H,
(C) mOetane —» 2,5-Dimethylhexane
(0) n-Heptane -» Toluane + 4H,

The tendency of gasoline to knock
depends on whether It comprises
(i) straight chain paraffing, (i) branchad-
chain paratfing, {li} olefins, {v) aromatic
hydrocarbons. The correct order of
decreasing knocking tendency is given by
(A) (iv) == (Hi) = (1) = (i)
(B) (iliy= (i) = (i) = (i)
(C) (i) = (i) = {Hi} > (iv)
(D) (i) > (i) > (i) >(iv)

In which of the following molecules,
intermolecular hydrogen bonding Is

possible ? '
(A) Nitrobenzene
(B) M methylaniling

(C) N-Methylaniline
(D) Trimethylamine

Arrange the following compounds in the
dacreasing order of their bond anglaz:

(i) Methane (ii) Ammonia and
(i) Trimethytaming

(A) (i) > (i) > (i)
(CY (i) s () > Gl

(B) (i) > (i) = (i)
(B () = (i) = (i)

23,

24,

GET ITON
® Google Play

DT T 0 0 00 0
21,

The major product formed when
pchiorotoluene is freated with scdamide
in presance of liquld ammonia, is

(A} m-Toluidine

(B) o-Toluiding

{C) p-Toluidine

(D} p-Chlorobenzylamina

Arrange the following compounds in the
order of their decreasing base-strangth:
Aniline (1), o-Methylaniline (I},
m-Methylanitine {11}, and
p-Meathylaniline (1V)

(A (Ve (I =1 = (1)

(B (N = (V) ==y = {1)

PG M= (1= (IV) = (1Y

(L) (= (= ={

Idantify the compound E in the followin
reaction scheme,
CaHg HND3 & HaBOq [heat E—

Sn/HE Heat | <5

MahiShs f HO 0" G % 0
Ha80y f'i"*zﬁ'"“"'"! s E
(&) Chiorobenzene
(B) p-Nitraphenol
{C) Benzene sulphonic agid
(D) Phenol

The reagenl used in the reaction
CoHBr — CHCN, is

(A)] alcoholic KCN

(B) alcoholic AgCN ;

(C) alkaline CHCI,

(D agueous I'~.IH:3
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St T A U o S HET & S
fae § A #d el Rva w2

(A) CHylCHg)ysCHy —+ CHy(CH,)ECH
+ CH4{CH},CH = CH,
Methyeyelohaxane — Tﬂﬁﬂ&ﬁﬁh’ﬂl‘lz
n-Octane — 2 5-Dimethylhexane
n-Heptana —» Toluene + 4H,

{B)
(C)
(D}

frdfem 1 weser &1 g 39 Wl
Efﬁaﬁmﬁﬁﬁmgan%{i}ﬁzﬁq
i (i) F9E-SA WA (i) SAERE
(iv) Wi RgrE | WeEeH i S
& Ei 1 HE A B

(A) (i) = (i) > (i) > (i)

(B) (i) > (iv) > (i) > (1)

(G (i) = (0 > (i) = {iv)

() (1) > (i) > (i) >(iv)

Tt 1 o T 2y 1 afe-amive BEieE
A EIGE 7
(A) i

(B) N.Mmmathwan@\

(C} N-Methylaniline
(D) =T

faer TRl = 39 S0 T T FE
ey - () B (i) s aft (i)
e

() (i) > (i) > (iif)
() (i) = (i) = (i)

(8) (i) = {ifi) > (i
(D) (i) = i) = ()

21.

23

24,
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za s A R pa R
drEmrEs A st 1 Wl § o e
Fere e 8
(A} m-Toluiding
(B) o-Toluidine
(C) p-Toluidine
(D) p-Chiorobanzylamine

e A o 39 MEE-EEE & g2
#hH fi'HTarl'l?{El :

Aniline (1), o-Methylaniline (I}, m-
Methylaniling (111}, 3% p-Methylaniline (IV)
(A (V)= (0= ()= (1l

(B) ()= (V)= (I =tl)

(C) (11 = (1) =LV} =(I1)

D) (1= (=)= (V)

e e sndve 8 E e ae=e

MO = H‘?_Eﬂ-_q S heal il E

A T

NahOs/HEWT'E . D

WSOy /g0 warm

CHBr —» G HLCN arfivfn § 3w
fopan Ty T 2

(A) STERTEITEE KON

(B) *eiilerE AgCN

(C) T CHOL,

(D) TfFEE NHy
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28,

29

Ai-

The states of hybridization of nitrogen
in pyridine and piperiding, respectively
arg

(A) spPandsp® (B} sp®and sp’
(C) spandsp® (D) sp®andsp

What is the final product (IV) in the
[ellowing reaction sequence 7

Tolyene —MIMIO IO GIHT |
ﬂi'_.“ NHg 5 i

- BRiOT_, v

(A) Bromobenzens

(B} Aniline

(C) p-Methyltoluena

(D) Benzylamine

Which of the {ollowing compeounds will
give anty monosubshituted product upon
further substitution reaction 7

{A) p-Dinitrobenzens

{B) m-Dinitrobenzens

(C) e-Dinitrobanzensa

(0} Noneof the above

Which one of the following reagenis is
usad to distinguish between (CH-1.NH

and GHMNEg?
(A) Hmr.n‘;%ian
(B} CqgH.SO.CI
(C) Dil. HCI solution

(0} Dil. NaDH solution

Which of the following statements is
incarract with respact 1o diethyl ether ?
(A} 1t forms peroxide when exposed to
air in presence of light

It forms oxonium salt

It forms slable complexes with
Lews acids

It is weakly acidic.

(B)
(C)

(2

GETIT ON

® Google Play

o — A

30.

.

10-

Which of the following statements is
eomact with reference to benzaldehyda 7

(A) NNundergoes Cannizzaro's reachon
in presence of a base

(B) It reduces Fehling's solution

(C) It forms aldol product with-a sirong
bazea

(D) 1t gives p-nitrobenzaldehyde when

nitraled with nitrating mixturs

Which of the tollowing groups will
decrease the acidity of phenol when |
i& prasent in the benzena ring 7

(A} = NG, (B} —CH,

(C) —<iCN (By -Gl

Which one of the following statements
15 Wrong with respact to alcohol ?

(A) Rectified spirt consists of 95%
athanol and 5% water

Absolute alcohol is 100% ethanc
frea from walar

Fower alcohol contgins 90%
ethancl and the rest igpelro-diesa
Denatured spirit contains 90%
athanol, 9.5% methanol and 0.5%
pyridine

(B)

(C)

(D)

Phosphorus: pentachloride does nd
react readily with
(A} methanol

(C) diethyl efhiar

(B) acetons
(D) aniline

The rate at which ethanol reacts with'
HCOOH (1), EH:FDGH {3,
(CH3)CHCOOH (1), and
(CHL,CCO0H {IV) in présence of an
acid. follows the arder
(A) I=1=1ll =1V

(B} IV=lll=ll=l
(C) H=lll=i=1V
(B) M=N=1=1
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25,

27.

§ 28,

(A} KMnD, 7

(B) CgHLS0.CI

(C) Dil. HCI =i

(D) Dil. NaOH HTet

Spie wem % it F P @ S Fm

T E 7

(A} wmEERT R e
TR B a3 s AT

(B) =& AT S S 8

(G) wifer 37w o T J% SR 5 ST B

(D) =7 Fman e v @

e

TG T DO 0 AR R
iraTEa i tefieEa o A2 & e
foufa o Eiet 2

(A) spPsitsp? (B) sp? HHsp?
[(C) sp¥lsp® (D) sp? Ssp
e apfrfeeg s of aifom gemE (V) #= R 7
Toluena — i KMAO, (OH finH <
R G AL ST
L BiPH S
(A) anETEE
(B) THeEA
(c) pTdeems
(D) SR
Fore o oo T e SRR W
sriirfa 8 shas ChRstEedt 3 3 7
(A) p-adgl=m
(B) m-AgEt=E
(C) ot
(D) Fli g e
(CH3)o NH 31T CHyNH, = fisr 782 | |
& fom frer 8 =i afiasts =0
o g i 2

GETIT ON
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30, A=refete & = § By A @ st

31.

32,

e WE R 7

(A) s o IR O g S
arfafern & o B

(B) e Swfem & g e 2

(C) 9% T &0k o WY TEer 30008
AT S

(D) T3 A B E et e
T A 9 pdaeae e d

Wriier o A fea A dim s e g 4

T YR 30 S = AR 7

() —NO; (B) —CH,

(@ —EN (D) -Gl

SeREe & oan o P 8 8 e

T B 7

() T FEifrz H as% geaals o 59
et e B

(B) TiErE srhiEe i F U F 100%
LT BT R

(C) wmnw&mmﬂ!ﬁ._
Y- T dien

(D) Tl el & 90% 3999, 9.5%
fiyerter 31 0,55 S w2

THTCR I 2 e S o st

2Rl

(Ay T (B) UHIH

(C) Seamei R (D) TeTRA

ared &) Iufeyfa O e 2 @ edele
HCOOH (1), CH,COOH (i),
(CH),CHCOOH (111}, 37
(CH.),CCOOH (IV) & sfifran o 2
ECEAR AR

(A} I=l=1li=1V

(B) W>ill>lsl

(C) ===

(D) M=V 1=1
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| 33.

36

37,

48,

34.

The reactivily of CHLCOCI (I),
(CHyCO),0 (1), CHLCOOCH, (1IN,
CH4CONH, (IV) towards nucleophilic
reagents follows the arder

(A} Walll=l=1, (B) li=l=l=N
() IslsM= (D) MslsVsll

The boiling paints of
CH,CH,CH,CHL0H (1),
(CHCHCHLOH (i) and (CH)COH (Il
decrease in the order of

(AY T=1H=1 (B} N=IN=1

(C) sl (D) I=li=1

The arder of the basicities of groups, viz.
OH~, DCH;~, NH;-, EHy s

(A) OH™<OCH, < NH; < CHy~

(B) CHy <NH, < OCHy < OH™

(C) OH =0CH, > NH, = CHy"

(D) OCH, < NH, < CHy = OH™

On treatment with sodium hydraxide,

-

glyaxal g ainly sodium salt of
(A) gll,rfmic?{‘fﬁi (B} glycine
(C) ghycerol (D} ghyeolic acid

End products oblained during
ozonelysis of 1,3-butadiene ara

(A) tormaldehyde and giycol

{B) formic acid and glycolic acid

() formaldehyde and glycolic acid
(D) oxalicacid and formaldefyde

GETIT ON

® Google Play

40,

41.

43.

The reducing agent used in. the
conversion of CHy—Ca N o CHy-CHO
is called

(A} Raney Nickal

{8) Tollen's reagent

(C)  Wittig's reagant

(D) Stephen's reagent

Formation of acelone cyanohydrin from
acetone Iz an example of

(A) elactrophilic addition

(B) nucleephilic addition

(C) free radical addition

(D) nuckesphilic substitution

Whatis the compound C in the fallowing
reaction sequence 7 '
HE=C - CH, —"i50a dlHat04 , 4

LAMg g BiBR e

(&) 1.2:Dibremopropane

(B) 1-Bromopropane

(C)  2-Bromopropane ,..--"'.;- 2
(D) 2.2-Dibromopropane

The reaction intermediate formed dunng
dehydration of ethanol by concenirateg
sulphuric acid Is a
(A} froe radical

{C) carbanion

(B} carbana
(D) carboniumiof

Which one of the following method
does not lead to synthesis @
isopropylbanzena 7

[A.J GEHE + GHE':HEGH-E a5
(B) CgHg + CHyCH(CICHy _ Aoy

(C) CgHg + CH,CH.CH.CI _ A0
(D) CgH:CI +
EHEI{: H{{:I}CH-E Ma in BLEI[

»
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a5, At s S CH,CoC!
(1), {CH4CO0 (II), CHyCOOCH (),
CH,CONH, (Ivy i sififrmiicm = @
(B) Wsl=li=l (B) Nxl=Ni=1V
() I=l=li=Iv (D) T T

36, CHLCH,CHLCHL0H (1),
(CHa),CHCH,OH (Il 31 (CH,).COH
(10T e e A 1§
! (&) 1=l =N (B) N=1ll=I
| (C) M=M= (DY Lot = 10

37. ‘OH-, OCHy~, NHy", CHy™ TR
ATTCERE 61 3 ©
(A) OH~<OCH,~ < NH,~ < CHy
(B) CHy~ < NH,~ < OCH, < OH
(C) OH~> OCHy > NH, > CHy
(D) OCH,~ < NH,~ < CH;~ < OH-

38, e iEeans 4 abfEm A weeEE

pretapdeeabee o ukGild
(A Tt s (@) Tod
' (cy TemiE (D) e e

39, 1, 3FLEA & HiFIH FIHA & G0l
(A) EHEATEES T wH
(B) LI 375 S0 TR o et
(C) whrmiens i waEifos

(0) ST 370 S FRuAaes

40,

41.

42

A4,
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CH;~C = N¥ CH,~CHO Wi 4 3wt
T T, TS e e B
(&) T T
(B) A ATawEE
(C) Tafen= sl
(D) Feesa w1 arfins
i & T FHERTE (cyanchydrin)
T T T U I R
(A) FETHRZITRRTF W
(B) fFriser9e
(C) T Heteh g
(D) TR T
fimr sfufn em 4 C A w3 7
HC=C .~ CH, HgBO4 Il Ha504 . A

L W g FBR oo
() 1, 2-2gmEmE .
() 1A -
) AR
(D) 2, 2-Eandie
AT ST SR T e
S waTe et ahifEm e
(A) T (B) FWa
(C) (D) I SR
o 1 & i ften Dt
T eh1 AW el ST e 7
(A) CgHg + CHiCHECH,  1as0,
(B) CgHg + CHCHICHCHy  meip |
(C). CgHg + CHRCH,CHC1 _ Al
(D) CaHOl &

CHyCH(CICH;  namnamer

Page- 12
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45.

4E.

ar

48,

49,

Arrange the following groups in order of
decreasing o— and g~ directing strangth :
—0H, —Cl, =CHg, -0, - NH;

(A} =05 —NH,> -0H> -CHy>-Cl
{B) —Cl>—CHy#—0H>-07>-NH,
(€} —OH>=NH,>-0">—CHy>-Cl
(B) ~CHy>—Cl>==NH,>~-0H>-0"

Which among (&) cvelohexane
(b} cyclopentane {¢) cyclopropane
{d) cyclobutane possesses a Bayer
straih of 19728 at aach CH, 7

(A) eyclopentane (B) cyclobutane

(C) eyclopropane (D) cyclohexane

Which of the following is the and product
when benzena is traated with excess of
chionne In presence of light ?

(A] Maonochiorobenzens

(B} Dichlorohenzene

(G} Trchlorobenzena

(0} Hexachlorocyclohexane

The addition of HClL 1@ CzH: CH =
CH.CHg gives the major product

(A) CgH CH = CHICH, H*EI™ sall
(B) C.Hg CHEEH, CH.CI

(C) CgH: GH., CHICI} CH,

(D) CgHe CH(CI} CHyCHy

A Friedel-Craft's reaction of benzene
with dighloromethane in presence of
anhydrous AlCl, produces

(A} Diphenylmathane

(B8) Triphenyimathana

{C) Benzyl chlonide

{0) Benzal chionte

50,

al.

22,

53.

GET ITON
® Google Play

Which of the following molecules 15
expected to be aromatic 7
(A} Cyclopentadienylcation
(B} Cycloheptatrienyication
(C) Cyolooctateiraans

(0 Cyelobutadians

Which of the following statemants is trua]
for the reaction 7

GH_I EH:I
' HO !
o [l s A H O - C-OM
3 ] a |
CH- oH

24CHloro-2-hathyl propane 2- Mefiwlipfopan-24
tert-Butyl chinnda) (ertiany BunylAkcohn
(A) Tharateof the hydrolysis depend
on the concantration of nucleophig
The nuckeophile attacks the C-ato
gn the side of the moleculd
opposite tothe leaving group
The reaction proceeds: wil
simullanecus bond formation 2
bond breakage _
The reaclion lakes place wi
carbonium lon as an intermediald

in ordar lo synthesize-@sphenyky
pentanol by Grignard reagent metha
which of the following pais.|
compounds can ane starl with 7

=

1C)

(D)

(A) CHyCH,~CH,-Br and
CHyCO-CgH:

(B} (CHy),GH-Brand CHy _

“:': EHS—GHE_GHE_GHF—EG_E.
and CHy—Br :

(D) CHy~CH,~CH,~CH —Br
CHL~CO-CgH,

The quantity of enthalpy needad 10K
the carbocations, 3°, 2%, 1% and '@
from the respective precursors, foll
the order

(A) 3%=2">1%>"CH,
(B) 2°» 37> 1% > TCH,
C) 1">2°>3"> *EHS
(D) *CHy>1">2°53°

e
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45,

47

48.

49.

_ i H FRaawmr ) sifufer fmm

et wHE 1 o- 31 poas Benaae g
%9 H gaEn
~OH, —Cl, ~CH;, ~0~, ~NH,

(A) —0 >—NH,> ~OH> ~EH,>-Cl
(B} —Cl>~CHy>—0H>—0">~NH,
(C} —OH=-NH;>-0">-CH;>-Cl
(D) —CHy>~Cl>—NHy»— OH >~ 0
(a) HIgFFTEEET (b) AEFEid
() BRI (d) ErsaitEges 4 wfi CH,
T 19° 28" W T o £ 2

(A) WEEITA () EEEE
(C) wmFeiiuA (D) WEEEEA

T T & mve W F ufesf o
9 4 i siidEn o 8 e A
HITHT S0 IS EATR 7

(A) WRERTEE

(B} SaeraiE

(C) S

(D) T T

CgHg GH = CH,CH, H HC! fireme & ey
L e A

(A) GHy CH = CH T BRC
(B) CgHs CH.CH, CHACI
(C) CgHg CH, CH(CI) CH,
(D) CgHg CHICI) CH.-CH,

TAEEH AICH, 1 Fufeufs 4 e =

I~ ol

i B

(A) EfsAefrs
(B) fmeriivgg
(C) === e
D) W AR

=15

a1

2.

. 8%, 2%, 1% 3 *CH., =1 SEiese e

GET ITON
® Google Play

..
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T B A e stop o e s 0
(A) Cyclopentadienyication
(B) Cyclohepiatrienyication
(C) Cycloociatetraene

(D) Cyclobutladiens

T fom v 3 8 S ot 3 2
CH GH
i 3 i cl | i}
H.C - I? - ——2=3 NG tI:—DH
CH, CH_
2-Chioro-2-Mathyl propane 2-Methyipropan-2-ol
(ter-Buty| chiaride) {mﬂlary ButylAlcohal)
(A) FE-THA F =W i
aEm Wi e
(B) ﬁ@m%m%mw
EHET WA B
(G} BHETT w49 7 3 57T T A
AT ] B

(D) RT3 e S S
g FfalE wer & ,r,, ;

g sl el g 2 e Eﬁr?rrrm
o e R o fom Fe 0 fam i
W%t E FW H| AT TG 2 7

(A] CH4-CH,-CH,-Br 3 CH,-CO-
CgHs

(CHy),CH-Br 3i CH,-CO-CgH,
CHy-CHy-CH,-CH,-GO-CgH 3t
CH4-Br

CHy-CH,-CH-CH,-Br 3
CHy-CO-CH,

At

——

-

— N

()
(C)

(2]

AU T A T & for odedt o amE
FFH B

(A) 3"=2%>1° =*CH,

(8) 2°=3%=>1%="CH,

{C) 1°>2°>3° :-’EH

(D) THy> f‘:':-ED::-E

0 o T,
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54.

57,

A=

The hydrocarbon obtained during. the
reaction : CH,CHMgBr + CH,CH.-C
= CH 7

(&) metharie
(C) propane

(B) ethana
(D) butana

Carbon tetrachloride is @ commanly

used liquid in Hre extinguishers: 1o

combat small fires. This is because

(A) itis made up of only covalent bonds

(B) it has no flash peint and
non-inflammable

(C) it has low melting point and balling
point

58.

59

(D) s vapors are Non-poisonous

Chlorobenzene is less reactive lowards

rivcleophilic substitution reactions

when compared to chioroethane. This

s due o

(A} theinductive affect by phenyl group

(B} tha formation of leds stable
garbonium lon

(C) the increased bond strength by
resonance efiect
(D) the hyparconjugative effect
T

An nrganiﬁéhpcaund with molecular
Tormuia, CsH,Cl; gives a hydrocarbon,
on treatment with alcoholic NaOH that
dacolorizes bromine in CCl,, The
compound, when haated with aguecus
NaOH gives ethanal. The dihalide is
(A CHLCHCI,

{B) CHL(CHCH,C

(G} -a mixture of CHs= CH(CI) and HC
(DY none of these

1=

&0,

61,

GET ITON
® Google Play

The mixture of two organic. bromg
compounds on treatment with freshly
cut sodium in dry ether, gives 2.2
dimethylbutane as one of the products:
The two bromo compoundsare

(&) isobutyl bromide and methyl
bromide

(B) isopropyl bromide and ethyl
bromide

(C) tert-butyl bromide and propy
bromide

(D) tert-butyl bromide and ethyl
bromide '

|

In the reaction of optically active 2
chiorchexane with agueous sodiu
hydroxide to give 2-nexanol, there is
(A} ralention of configuration
(B} Inversion of configuration
(G} roatention and inversion d
gonfiguration in egual amountsg
the products
(D} nosignificant role of stereachemisiy
Which of the following statemens is i
trug aboul enantiomerns 7 .
(A} They have the ﬁ;ﬁé_ﬂpﬁﬂ
rotation
They have fhe same melting af
boiling pomts
They are nothing but
‘supenmposable mirror images
They have the sama chemid
reactivity

(B)
o]

(D)

Which of the following statemants
comect for geometncal isomers 7

(A} The trans-isomeris more polart

 the gis-isomear

(B) The boiling point of the: trans-isom

s less than that of the cls-iso

{C} The melting paint of Ih§ s is0

i5-lessthan that ol trans-iso

(D) The stabilty of eis-isomaris gred

than that of frans-isomer

Page- 15


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

A testbook

|10 0 OO
s CHyCHMgBr + CHyCH—8 = CH —» 7
, 38 sAfifhm & wog fen gor BgnA 2
(A) T (B) P
[c) s (D) =

55, Fret wm ® Fwed F o sfmamrs o
TR I O S 24 S 8 S
2THEANEE | JHHT FOE |
(A) S e TeEd A W W
(B) IHET =HeATH A BiE & "8
weEiE HE

(C) 5 THeATE 3N TS 95T %6
AR

(D) ST 799 N A e

56, FAIEEA % T O wemrafta
AffFersntors ufaeams sifefma & &0
sfvilErmTsTe g & | gue #m 8
(A) T Te g S afm
(B) =m Feem FraiiEm s w1
(C) =P % Yo a3 gan 3wt &

EE

(D) fomF=gfeaafm
57. C,H,Cl, @i ﬁ:ﬁm

AT FAT ) CC1, 1 i e
e TRlierh NaOH % |y sifafien 8
U TR a6 | A s

_ NaOH & = B siman 2, 79 sie

| e i

(A) CHLCHCI,

(B) CH.{CI)CH.CI

(C) CH,=CH(CH) 3 HCI = T
(D) M # =g 7

61.

GETIT ON

® Google Play
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2 e st s = fowm ) yre g

i T e g AR & srfafwm e R ae

2, 2- ST uTeTee 4% UF T aat e | 8

(A) TETHEE WHEE i R s

(B) UHEIE deTes 31 ghe Sz

(C) Zd-=gzmsa AEs i uge Fms

(D) ZE-=perme dimEs i sde wms

St AT AT o) el wifaan

egraTEeE B sifulEn @ o2wgme e

RITE BT R

() T = s

(B) Toram = wfaeme

(C) FE % 9iEm = =541 # faam =
ST 1T T A

(D) ?ﬁTwﬁﬂﬁ%wﬁ ity

uiiEess (oaRa) A A Femd

T Fu T R 7 e

(A) FAHT U= T Fafie g g 8

(B) 3o TR S, ATl e BTl &

() 38 o FB 78 afew @waniiE 1
A STeT] ST | Tt

(D) o T s v o
BT R

TG AR () an e

ARATI TR AR 7

(A) e e R (ois) BT A SfveR

FAG

(B} T w1 T f e 8
FH 8

(C) TEm T T =T AT U
EAGIE

(D) TomaEn ) e e
Wfire BT 2

. 1

i,

|-1 =

Ly Y
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B2,

A+

The cis-hydroxylation of 2-butene can
be possibla by

(&) the addition of 2% KMnO, solution
{B} the addition of czene lo the alkene,
followed by treatment of the
ozanide with H.O,

the addition of peroxy acid foliowed
by hydrolysis
thecxymercuration lollowed by
daeoxymearcuration

(C)

9

The normal C = G bond langth in
cyclohexere is0.134 nmand the normal
C — G bond length in cyclohexane is
0. 154 nm. What will be the lengthof thea
carbon 1o carbon bond in benzene ?
(A) 0.134 nm

(8) 0.154 nm

(C) <0134 nm

(Y Between 0.134 nm and 0,154 nm

When ethyne reacts with silver nifrate
solution, ethyne shows

(A} reducing property

(B) oxidizing propearty

(G} aciche proparty '

(D) basic propardy

= ol aguacus potassium
maleate, e gas collected at anode s
(A} ethyne

(8} ethene

(C) ethane

(DY a mixture of ethane and ethane

The structure of monomer unit in
‘neoprene’ rubber s

(A} €H, = C(Cl) - CH = CH,
(B} CH,=CG{CH;) —CH=CH,
(€} CH,=CH-CH=CH;

(D} CH(CN=CH=CH=CH,

&7.

69.

The addition of HI in the prasence of
benzoyl peroxide does not lead 1o
anti-Markovnikoy's rule because

(A} The Hl bend strength is 1oo high o
ba broken homalytically

(B} The ndine free radicals formed
readily combing with each other tg
give iodine molecule

{C) Hlisa reducing agentl

(D) lodine free radical * readily

combines with hydrogen fre
radical to form Hi

Whith af the following is an exampie
Hunsdieker reaction 7

(&) CH,CH,COOH
(1) Ap (2812, CC1s | GH,C
2CH,CO00Hs
__()NeOCabs (2 H
CH,COCH,CO0CH;

pt -
C.H-CHO + CHiBHO
CgHsCH = CH CHO

CaHsOHy—E0282_, Co.H.CHE

=]

Bane

(S}
(0}

Which one of the foliowing reactions
not &an example for Disls-Alder reacho
{A) Reaction of 1,3-butadiene Wi
ethene 1o form cyclohexena
Reaction of 1,3-buladiene .
ethyne ta form 1,4-cyclohexad
Reaction of 1,3-butadiena
propenal fo form 1,25
tetrahydrobenzaldahyde
Reaction of 1,3-butadiene withi
to form- 3-bromo-1-butens §
1-bromo-2-bulans

(B

8

()
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0 00 0 000

o= o) T R fRae smE e R
(&) ssfiiftE 2% KMnO), He
(8) R i e WE T HLO,
| S sl ) S
(C) eTia v et A oo SIae
(D) ST e EE

- eI
AR (oyclohexene) W I
C = C =9 @ 0,134 nm B8Rl # 3
R (oyclohexane) o C-C
T s 0,154 nm Bl S 1 & d e
B e ] e Bt w7
(A) D.134nm
(B) 0.154 nm
(C) =D.134 nm
(D) 0.134 nm 370,154 nm % 4=
o T A giet & g o sifleEn
FId1 2, 74 SHIET =6 8
(A) == e
(B) i s

st R Tie (maleate) % TIR-
e o vt (o) WE 08 e B R
(A) FHTE

(B) =% (ethene)

(C) 3% (ethane)

(D) i 37 gfua = g

‘ngoprene TAE I T =1 oA w2
(A) CH,=C(Cl)~CH=CH,

8) CH, = CICH) - CH = CH,

(€} CH,=CH-CH=CH,

(D} CH(Cl}=CH-CH=0CH:

18
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g7 AsiEraTaaEs & aute d Wi aae

§ g EfEE & Fm s ad e 8

EUiica

(A) HI &a g wEEg B @ e oaE
Eratferfesel AT 8] =1 FHA

(By Tt aqifEn e TErn T H g
frrerst |AriE 1] o &

(C) HIHE 3T=a e &

(D) rtfis He Heres T H gy
firera 2ETem W o o foed B
S HI FT 2

. e B # wEewL ST w5 3918

FHER

{A) CH4CH,COOH
(1) Agp0 (2)Bep, GOl | CH,CH,Br

(B) 2CH,COOC H,
{1) NaOGaHs {2y H"

CHoCOCH.CODCH; o

(C) CzHCHO + CH,CHO _ Bess
CzH-CH = CH CHO
(D) CgHeCHy P2 , CgH.CHO

. frm & @ # afalEa Eam-aeE

sy =1 Fame E 2 9
(A) 1.3- @aﬁﬁm%mm
P e =i B

(B) 1, 3- SHZIEET F1 $9154 + w4
1. & ST 5 T ST

(C) 1, 3-=4eTETA Fritte & W4 1, 2, 5,

6 ZErR ST SaTEE S 2 ST ¢

(D) 1, 3-syErEEA i HE Hae 3 -Fm -
(oA #R a2 w
P
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7.

4

T2

74,

75.

Which of the following slatemeants is

incerract with respect 1o a carbanion 7

(A} Bt is formed by heterolytic bond
fission

(B} Risdiamagnatic

(C} Its hybridjzation is sp? and
geometry is planar

{0y It behaves as acharged nucleaphile

Which one of the following methods is
used for the extraction of copper from
its ore 7

(A} Carbon-reduction method

(B} Leaching with agueaous solution of
NaCM followed by reduchon using
an active metal

Self-reduction mathod

The glectrolysis method

(C)
()

Which of the following is not the mineral
of magnesium 7
(A) Magnesie
(C) Dolomite

(B) Magnetiia
D) Kieserite

A rafining method called “Cupealiation”
is mainly used in the metallurgy of

(A) Caloium (B) Copper

(C)  Aluminium By Silver

The anode mud in the electrolytic

refining gadllver contains
(A) Au S0 (B) Au,Pb
{C) Zn,'Sn. Au (D) Zn, Cu, Au

The metallic lustre exhibited by frashly
cul sodium place is explained by

(&) oscillations of loosely bound
electrons

(B) diftusion of sodium ions on the
surface

{C) excilation of free protons of sodjum
matal

(D) conversion of metal atoms to s

shining oxide

20

A0 5 0 R

Fi-

78

78,

BO.

Which of the following stalemanis:
regarding aluminiurm is incarrecl ?

(A) Aluminium isa ight metal with
considerable strength

Aluminium is a good conducior of
heat and electrioity '
Aluminium-dissoives in hydrochlono
acid and not in concantrated soctium)
hydroxide soiution _
Aluminium does not corrode roadily
because of the formation of &
prolective coaling of akiminium
oxide on s surface

(B)

i)

()

Which of the following matariat
contains the highest percent of iron ?
(A) Steel (B} Pig iron

{C) Castiron (D) Wrought irce

The ganeral eledtrenie configurationd
coinage metal |s
(A (n=1)d¥ns? (B) (n—1)d'
() (n—13pfns? (D) (n~1)d® 3
7
The magnelic momenl of a transhg
matal ol 3d series Is 6.92 Bol
magnetons. ts-electrenic conligurabia
would be
(A) 3d%4s”
() 3df

(B) 3d%4s!
(D) 3d°4sY

The IUPAC name of
[PHMNH,(NOHCI)S0, 18

(A) tetramminechloranitroplatinumy
sulphate
tetramminechioranitropiahnuim]
sulphate '
chiorotetramminenitrogiatinum
sulphate
chloronitrofetramminaplatinum
sulphate

(B)
()

(o)
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70,

Tl

73.

74,

75,

SRR o5 5 A T e e A R 7

(A) FeE Fmin deifelis w e g
GG

(B) & TEgrachg BT R

(C) T d sp? i =i
TR BT A

(D) H7 Wi fReihe S T R

AT W1 FE s | e f e

T % i H I A e ?

(A) TRV -3 T

(B) NaCN & F&fg wie o S 3
% T Wi g = I R S

(C) T A= TEIH

(D) Fergw sy

fre & =i e 1 wfe TR 2

(A) HIETEE (B) FeD

(C) Bwilhe (D) e

=i (Cupellation) et afrerm 751G

ﬂ%'ﬁ[@ﬁﬁﬂﬂi Er@aaﬁﬂ,zum‘mﬁaﬁ%

() e (B)

(C) v (D) W

aid) & Frgy, et ofme § ane

(e A A 2

(A Au (B}, Au, Pb

{C} Zn, Sn, Au (D) Zn, Cu, Au

s & a2 gae § o wedi T

T 220t 2 3o wediEm 2

(A) STHTHR T8 FY SeEg I o A

(B) wfEEN S A W

(C) Hifem g & e T2 =) I

(D) v AT =S HiEEE
TR
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76, emiEn & A i Fee o 3 Fe

e e ?
(&) iR T g s A
E:

iG]

(B) TEmiEm Fun @ e w5 o
TS B

(C) wFafatEm et s i s
gﬁm%ﬁnmmﬁﬂn@mﬁaﬁa
EL

(D) e Han 1 wegfulm st
T W = HAW e )
Hegria (o) & ST

ey e ge A aToieE wie = Wi

B8 7
(A) T
(C). el et

| iz s
(D) Tzt s

. Tewnrad s wTT Sl

Fi 2

(A) (n—=11d*ns® (B) (n-1)d"0ns’

(€) (n=1)p°ns® (D) [n-1}dﬁns1fr'_;;--
. Gd T TR T gE T ST 6,92

Bohr magnetons & | F9&T JEL i
T Em

(A) Bci*as? (B) 3di4s!
(C) 3d® (D) 345 450

[PH{NHZ),(NO,)(CNISO, T IUPACTH &

(&) tetramminechloronitroplatinum(l)
sulphate

(B) tetramminechloronitroplatinum(iVv)
sulphate

(C) chiorotetramminenitroplatinum(lV)
sulphate

(D) chioronitrotetrammineplatinumiiV)
sulphate
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81,

Which of the following complex ion is
diamagnetic 7
(A) [CoF P~
(C) INI(NH.p)aI

(B) [MiCl ]
(D) [NIECN) &

The maost stable-complex among the
following is
(&) [CdCI,*
(C) e

(B) [CA{CM) =
(D) {Gdﬂr‘;@-

Vitamin B4, is a8 complex of
(A} Cobalt (1) lon

(BY Cobalt (Il ion

(C) Chromium (II) lon

(D) Chromium (Hi) ion

Transition metal compounds are usually
colored. This is because of the
alectronic transition

(A) from g-orbital lo Forbital

(B) within d-orbitals

(C) from d-orbilal to p-orbital

(D} from d-orbital 1o s-orbital

Whiech of the fallewing hydrated
transition metal iong.ig colorless 7

(A} TV (B) T

(C) Feil (D} Felll)

Which of the following slatemanis
regarding the complax [CriNH4)6IC, s
incorract 7

{A) The complex is diamagnetic

(B) The complex involves d*sg”
hyondization

The complex gives curdy whita
precipitale with silver nitrate
solution

The complex is octahedral in shape

(c)

()

GETIT ON

® Google Play

a7,

20,

g1,

-22-

Which of the following statements is
wrong?

(A) Magnesium carbonate is thermally
less stable than barium carbonate
Carbonates of magnesium and
calcium decompose below their
melting point

Anhydrous magnesium chloride
cannot be oblained by healing,
hydrated magnasium chloride
Carbonatas of magnesium a
calcium are readily soluble i wate

(B)
(G}
(o)

The oxidationr number of oxygen i
potassium superoxide is
(A —¥a (B) + ;&

Potassium carbonate cannot b

obtained by a method similar to Solvay's

process because of the fact thal '

(A) KHCO. cannot be converted. i
potassium carbonale readily

(B) KHCO; is not stable in solution

{C) HHGD is morne 5nlu1219 in wals

than NlaHva’_tr:}El 9

(D) KHCO. is highly '-.f::ratllra

Which of the [UHU'WII'I-I_'-; sialaments abe |

aluminium chloride is not correct 7

{A) Anhydrous aluminium chloride c3

be prepared by heating its hydra
salt

Aluminium chioride acts as 2 Low
acid

Aluminium chioride solufion
acidic in nature

Aluminium chicride 18 a covalg
compound which readily dissol
in Drganic solvents

(8)
(C)

(D)

Thae molecular formula of 'ra::l lead i
(A) PbyQ, (B} Fb,04
(C) PBO, (D) PHO
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0 OI00 O  0 0 0 0 0 OO
g1, e 59 S i s faada g 2
(A) [CoFgl~  (B) [NICLP-

AE) [NHNH,JP* (D) [NI{CN) 2
g2, T @ sreafies fon e b

(A} [CdCl, = (B) [CAICN)F

(C) [Cdl,)* (D) [CdBr,J*=

g3. FAefia B, , e Gt B
(&) IR (1) 3075
(B) w11} ST
(C) i (1) 3w
(D) s (1) s

B4, TR WY % Aifirn wvr: gvina B 8
FEER] BRI & el S0
(&) dEefEH fsfm
(B) d-orei o Wiar
(C) oswaftad paafim
(D) o-FEEH s
85, e A A S s ae g & e
AVEF B 7 ~
{ﬁﬁ\"hual].

(A} TitIV)
(C) Fellll) (D) Fefll)

88,  [CriNHg)JCL T ¥ =1L H Py & e
U T B 7
(A) e g 2
(B) Tt H d2spi g B B
(C) Tl 32 ot & i o 2d A
e A 21 3
(D) HEFT TR 0 AT 2ol

87.

a3,

9
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Fedashmss eEe 7

(A) T EEbe aed S wEE
o %9 fem wen @

(B) WAt 7 FeTaan F FHiae
AT F S g EA E

(C) A wergifam dnffes =iEe 8
TR TR SR e R

(D) HrAfn ot Serfias o wniae o
4 i faem @

qEftem guerimss 4 siwiea §

AT e @

Ay -V By + e
(€Y =2 (O) +2
TR TTRRIn Sl S reis o Tiaa e v

T AE TR A TEF] 0 g

(A} KHCO, =i Ty e o qi
it i Ren = wwar

(B} KHCO, %5 =ie # el ff #ten

(C) KHCO, 7l # NaHCO, # %fys
ECEE

(B) KHCO, s Fremsiie & B
e iaTs FeEE AR A e @ e
e alt adi 2 7

(A) TIRZH TRgiim SRS 1 35
aw?lﬁﬂaamﬂflmamﬁﬁnmm
gl

(B) TeIfFmn weEe wtan o
it fora

(C) Tegfil-mm FANEE uie =eg |
et B 8

(D) el i aE v geaaeE
HifE & 9 FEHE e | 1
PRI

“ater e’ = anfrEm o
(A) PO,
(€} PbO,

(B) Pb.Oy
(D) PbO
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92,

83.

85.

g96.

87.

Silver chloride readily dissolves in
agueous ammonia but not in water
because

(&1 ammonia s more basic than water
{B) silver ions lorme soluble compléx
with ammnnié

ammaonia reacis with chloride on
to form ammonium chloride and
silver lons

siiver chlonda gets solvated with
ammonia molecules

<)

(L2}

Which of the following species has the
targest value of malar cenductivity in its

aguaous solufion 7
Ay K* (B) Na*
ey Lt (0y F

When phosphorus 15 heated with
concentrated nitric:acid, # reduces the
acid to
(A) NOD
(G} MN.O,

B NO,
(D} NaOg

Which ol the following seguences of
alectron aftinity aboul halogens is
corract ¥
(A) F<CijSBn (B) F,<Cly<Br,
(€) Fo>Clys B (D) Fas Cly<Br,

Ammonia gas reacis with excess of
chionne to give
(A} N+ HCI
(T} N,

(B) NH,CI
(D) NCl,

lodine reacts with cold and dilute

petasswm hydroxide producing
(A} KlI+KO (B} Kl+KIO,
(C) KI+HIO (D} KI+HIO;

a8.

a9,

106

101,

102

103.

GET ITON
® Google Play

Which of tha following statements about
ozone is incarmect 7

(A) The ozone moiecule is angular in
shape

Ozone is much more powerful
oxidizing agent than molecular
oxygen

The ozone layer protects the earth's
surface from an exXcessive
conceniration of harmiut UV
radiations

The conversion of oxygen 1o ozong;
5 an exolhermic process

(B

()

(2

Which af the following carbides Is ionig
i natura ?
(A) SiC
(@) CryC

(B) MoC
(D) AlLC,

Nitrosonium ion is isoelactronic with
(A) NO (B) CO
(€) NO, (D) M-

In hydrogen peroxide, the hybridizati
Invelved in oxygen atoms is

(A) sp (B} sp®

(C) sp® (D) spa®

The volume of ammonia chiained w
80 litres of dry hydrogen reacts W
excess of dry nitrogan when all volume
measurad al STP, would be

(A} 0.02 m? (B} 0.03m?
IC) 0.04m? (D) 0.06m?

Orthaphosphorus acid is
(&) nautral (B} trbasic
(C) dibasic (0} monobasi
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92, ToeraT wentee weita s 4 g
T & wm & B wieft A 1, =i
(A} st o & fe anv S
:’4:5] T o A e st faem aea
TR ’
(C) FIRES R F g =i sl
Fo 8 A s wehes sl
s e e
(D) sratfa a1 & are G = nes
HuTEE E s R
g3, f= ot Frm wfa ) 3w st O
ATETTETER WYHT STerhat 21t 9
(A} K* {B) Mat
{C} Li* @ F

94, o Hin AE I F W EEEE F A
TerE ST & o 3T R S ST i
(A NO (B) NO,
(©) N0, (D) NG,

95. & o A | e d 8 e e
A FT T RS 7
(A} F,=Cl>Br; (B) F.< Clp<br,
(C} Fy>CL>Br, (D)giigs Cl.<Br,

OB, ST A o Ee AT A st
# e #
(A) N+ HCI
(C) Ng

(B) NH,CI
(D) NCl,

97. Ei1R 3 AT T R RS it
=1 sifufFra g a2
(A) Kl+Kol (B) Kl+KiO
(C) Kl+HIO (D) Ki+HIO,

100.

w01

102.

104.

JDD-66/PGT-CHEM/ TIER-IFX-15
A & A O s S e e e R
() HIHF 0 0] SR E Fiofg 2
(B) s wifaterm & s wgs s1hs

seTTelt A TET e

(G) it eh v g o6 v o Wi ¢
v fafor & srerfes S 3 '
TE A B

(D} sifees= 8 @t 51 ufads 5 :1!
AEAEE

R F R e s 7

(A) SIC B MoG

(C) CraC (D) Al,C,

AR AT S SEE T R

(A) - NO (B) €0

(€} NO, (0 N0

bgn e | i G

BT T B

(A) &p B) sp?

(C) sp® (D) spd®

o= wefi g STP F 0 WA 2, A

B0 fere =1 I Bgrer w7 g 15 Tt

1 Zafirfaren Fan R, e et B0 s e =

i B B

(A) 0.02m? B) 6.08m? by

(€} 0.04 m3 (Y 0.068m? 2

SETRTEH S5 w1 8 .

(A) FaETEH (B) HamF

(C) T (D) TERETTEF
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104,

105.

106,

107.

108

Ax

Which of the following statemenis about

sulphur dioxide is not correct 7

(A) Sulphur dioxide is an angular
molecule

(B} Sulphur dioxide is an acidic oxide

(C) Sulphur dioxice is an anhydride of
gulphuric acid

(D} The S - O bond length is smaller
than the expected value

Which of the foliowing statements aboul

pyrophosphoric acid is not correct 7

(A} It forms four series of salis, e.g.
NaH,P,05, Na,Ha P04,
Na.HP,0, and Na,F,0

(B) Itis oblained by haating equimolar
mixture: of ortho - and
metaphosphoric ackd at 100°C

(C) On boiling with water, it produces
orthophosphoric acid

(0) On strong heating, it gives
mataphosphoric acid

Consider the reaction:

xNaH50, + yNalO, - 2NaHSO, +
2Ma, 80, + H 0+ |y ’
The coefficients x, y and z respeciively

would be e

(€). 5,2,3 () 5,93

The calalysts used in Haber process
and Contact process, respectively are
(&) MnO,andNi (B) FeandV, O,
(C) TiandCr,0; (D) CuandMoO,

Water of crystaliization in Maohr's salt
and green vitriol, respectively are
(A} 2and 24 (B) Band?
(CY 10 and 24 (D) 2andB

GETIT ON

e —— — > Google Play

109. Mohr' salt is a primary standard reagent
because
(A} #is siable
(B} it has light green calor
(C) it is cheaper and readily availabie
(D) its molecular weight is fairly high

110. Gahlvanized iron is obtained by coating

iron with a thin film of
(A) Cu (B Sn
(C) Al (3 Zn

111, Generally nitric acid js not used in the
preparation of hydrogen from metals
because
(&) itforms an explosive metal nitrate
(B) it isverydifficult to handle nitric acid
(C) metal becomes passive so thal

further reaction stops
(D) itis a very strong oxidizing agent

112 A fluoride of xenon formed by the
reaction of Xe with excess of 7, at high
pressure and 25°C, possesses
(A} atetrahedral structure with one k

pair oy
(B) a trigonal bipyramidal  structurg
with two lone pairs
(C} acapped octahedral structure wi
one lone pair
(0} acapped octahedral struclure
two lone pairs

113, Which one of the following mixtures
often used by Deep-sea divers i
breathing purpose 7
(&) O and Ne (B} O, andKr
(C) O, and He (D) O, and Ar

114. The reducing power of Al, Ga, Inand
arae in the order of
(A) TI=>In>Ga> Al .
B Al=Ga=In=T]
(C) In>GasAl=Tl

(D) Ga=in=Al=Tl

Page- 25


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

A testbook

104,

105.

106

107,

Eﬁlﬁ#ﬂhﬂﬁﬂ%ﬁﬁﬂﬁﬂﬁéﬁhﬂr
FEA TR AR A7
(A) FEHTBESRTEE RV 30 BT 8
(B) HTH T EHTRIEE U el
. HEaEEe
(C) TFF1 ERaaEEE T8 el 50
F RgEe ®
(D) & - 0ag = e aifie ey O
e
R s R f e A e
FA TR AR B 7
(A} FE NaH,P,0;, NasH,P.0s,
NaizHP 0 371 Na,P,0, 33 91
F 9 & A F =
(B) SiTd] T AERERIE e % Fier
s st 100°C o 0 % 47 Toear
(C) T o H T FaTe O o SiarEenE
s P s 2
(D) 34 AR w78 FH E 9w
HETRIFHITE 37 241 8

 afafEm S am em R

XNaHS04 + yNalO, — zNaHSO, +
2Na.S0, + H.0+1,

x, 31T 2 308 T L g

(A) 2,5, 2 11

(€) 5223 {0} % 3.3

wa afEar S wiw ulEm 6 o
FIATE IeH A

(A) MnO, NI (B) Fesimiv,0,
(C) TISCrO, (D} Cu M MoO,

He * S e ot et
B 919 eI B

(B) GHATT

(D) 2416

(A) 2324
(C) 10324

108,

110,

2.

113.

14,
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TR 1 AT AR S g e
it

(A) FefEn?

(B} FHw 0 I 0 i 2

(C) e me it s firea 2

(D) T SATTva SR e e e
AT W T TAE] WA B ST S
W1 el 7
{A) Cu

(C) Al

(B) "Sn
(D) Zn

. ST R T A A A e

o) Fu =i T =, =i

(a) = TR ag 332 S 2

B) A s # Fyrnags w5 2

(c) g Frferg 21 sren @ 2t sl
stfirfira w5 w2

(D) . TR AR ST ST A

25°C M e =W X s e F,

SR 8 w0 A & e 1

A) = T ST hE

D e

(B) Eﬂﬂﬂaﬂﬁrﬁmmﬁmaﬂxﬁm

(C) mmmmwaﬁﬂnﬁmaﬂt
%‘aﬁ@aﬁﬁﬁmﬁﬁ

(D) @t skt sitfead & wer ST
AT 1 HTAAT

T H6E 2 TiarEn yaee & o st

I TR =T e I A 7

(A) O3 Ne  (B) O,2MKr

(€) O,3MHe (D) O, Ar

Al, Ga, In 31 T 3 =zal 90 1 @0 }
(A} TI=In>Ga=> Al
B Al=Ga=In=T]
(C) mMm=Gas=Al>T
(D) Gax>in=Al=T

-"f*‘ !
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115,

118.

LA

118

119.

120,

The geomatry of stannic chlonde is
(A} tetrahedral

(B) square planar

(C) square pyramidal

(D) octahedral

The metal lead is readily soluble in
(A) sulpunc ackd

(B) nitric acid

(C) hydrochlonc acid

(D) aceticacid

EDTA complexometric titration
involving estimation of hardness of
water, makes use of

(A) acid base indicator

{B) metal lon indicator

(C) adsorption indicator

(0} redox indicator

When copper sulphale ssalution Is
treafed with sodium carbonate solution,
fhe product formed is
(A} CuCO,

(B} CuCO4 Cu(CH),
[ﬂ} EUE'D

() Cu(HCO.),

In Parke's pf&s of silver extraction,
the metal zZinc acts asa

(A) complexing agent
(B oxidizing agemt

(C) reducing agent

(D) solvent for extraction

Fermous sulphate and ferric sulphate
can be best distinguished from each
other by using the reagent

(A) FealSCN),
(C) K [Fe{CN).]

(B) NH,CNO
(D) BaCl,

T22.

123.

124,

125,

126,

127,

GET ITON
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121,

Which ane of the Tollowing complex ions
deviates from Effective Alomic Numbar
rule 7

(A) [Cu{CN),P°
(C) [Fe(CN)g*~

(B) [ColNHlg™
D) [Mni(H,0)2*

The fraction of chloring precipitated by
AgNG., solution fram [CalNH,,)CICI, [
L 1
(A) 5 (B 4
1 P
€ 3 ) 3
Which oné of the following is.a high spin

complex 7
(A} [Co(NH3)** (B) [CofCN)gl*
(C)  [CoFgl* (D) [Fe{CN)gF

In triethylenediamine cobalt (Il
chioride, the coordination number
coball is

(A) 3
(G} 5

Tha basicity of the hydroxides of Li,
RAband Cs are in the ordar of

(A Na=Ll=FRb>Cs

(B Li=Na=Rb=Cs

(C) Rb> Cs>Na>Li

(D} Ca=Rb>Na=>L|

Among the following slements, wh
has the highast ionization energy 7
{A] Mitrogen (B} MNeon

({C} Molybdenum (D) . Chromium

Which of the follawing oxides i& ne
(A) MgO (B) ALO,
(C) CO (D) Ma.0
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115, = aeioes H iR e 121, =hadta s T e | e d e
(A) S Ha fEafem S 8 7
(B) ST A) [Cu(CN)LJ® (B} [ColNH P
(C) et ‘c lFu{::,rdm*‘- E:r} [MD{H t;j EPE*
o) rensfn () [FelCNg] (D) - [(Mn{HOlg]
122, [CofNH,).ClICI,3 AgNO, Z/5m  3ras 7
116, T g g e e # AR e .
(A) FERHF HH 1 , [
(B} e s " 3 B) 3 o
(C) Ssfiifes strey : > '
(D) Tz A € 3 © 3
7. EDTA B s e e | 123 P & wen awR R 2
a1 1 S wiE e 2 B, o 20 (A) [ColMHglaEt (B) [CofCN)gl-
T AR (C) [CoE (D) [FICN)
(A) S & 4 L
(B) I SR T 124, Fhafadeog Faee () FE
(€) AfEsTrmERE e ] FAS A R ‘
(D) = A 3 B) 4 I
1B, TR A e ded | @8 k28 |
;A'l} ”G;"“ “’é?mt'ﬁ FITEHASIEE | S0 | Na, b 3 Ce BEmams ) smams . .
Uity . gt
(8) CuCO, Cu(OH), ek :
(C) Cu,0 (A) Na=Li>Rb>Cs
(D) Cu(HCO5), (B) Li>Na=Rb=Cs
i . (C) Rb> Cs>NasxL
1 fﬁi”zﬁﬁ”'ﬁ? ¢ (D) Cs>Bb>Nas>Li
() e ates a6, v ezt Rl st st
(B) fRaEERm FF e 2 7 I
(C) SFTe T ;
o3 (A} A (B) e
0y Feedm = forn e IRl b
o) fere (€} TifeEE (D} I |
120, it SR IR e Hens Al R . o
i vl e 8 i R e ® | 127 P Q9T SRR I 8 7
(A) Fe(SCN);  (B) NH,CNO (A) MgG (B) A0y
(C) Ky[FelCN)g] (D) BaCl, (C) CO (D) Na.0
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128. Which one of the following is used as a
negative catalyst for the decompaosition
of hydrogen peroxide 7
{A) acetanilide
(B) sodium carbonate
(C) oxalic acid
(D) platinum

128, Lithium differs from other alkall metals
' due o
{A) ite small atomic size and ionic size
(B} itz extremely high electropositivity
(C) the low hydration energy of Li*
(D) the high ienic mobility

130, An agqueous solution of & substancs
gives a white precipitate on treatment
with dilute hydrochloric acid, which
dissolves on heating. When H.S5 Is
passed through the hot acidic solution,
a black precipitate |s obtained.  The
substance Is a salt of
(A) Hgs" (B) Ag®

(C) Cu?* (D). PB®*+

131, The correct set of quantum numbers for
the unpairet el ron of broming atom is
(A) 3,00+ (B) 31,1, +%
(C) 4,0.0,+% (D) 41,1+

132, Thecommon features-among CO, CN-
and NO™ are
(A) bond order three and iscelectronic
(B) 'bond order three and weak field
ligands

(C) bond order iwo and x-acceplors the sample 7
(D) isoeiectronic and weak fieid (A 11279 (BY 13649
ligands (C) 48B4 (DY 129
A -0
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133. The method of zone refining of silicon

is hased on the principle of

(A} greater solubility of the impurity in
the molten state than in the salid S

(B) greater mobility of the pure Si than
that of the impurty

(C} higher melting of the impurity 1han
that of pure Si

(D} greater noble characier of solid Si
than that of the impunty

134. Polassium pessesses body-centerad
cuble structure. The number of nearest]
neighboring atoms for each polassium
alom in s crystal structure s '
(A) four (B) six

() eight (D) twelve

135, Ifthe latiice parameters of a given crysia
are : a = 0.562 nm, b= 0.741 nm
c=0068 nmand o = 90" p =904
v = 80°, then the crystal is '
(A} tetragonal (8] grfiprhombig
(C) monoclinic (D) frigonal

136. Which of the lollowing processes ieadl
to an increasa in the atomic numbear e
a nuclide 7
(A} Electron capture
(B) Beta amisuion
(C) Alpha emission
(D} Positron emission

137. A knownmass of a radioactive materl
with 1,, = 3days, was initially taken, A
12 days, 3 g of the sample was §
bahind. What was the imtial mass
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| A 01T EECTEE R 0 0 D 0
128, EEIoF HEEE T e e Beoem
T IRE & w0 H 39 Em e 4

(A) wHEETRE

(B) Hifsmwmie
(C) ATaifers s
(D) =i

T T it & e s R it

(A} = B Ty =i s s A
BT

(B) 0! fmpm R S T a2

(C)  Li* o = mearas o

(D) Feht I avmferes e fier

128,

130, Tk 55 % el WG %1 0 SRiien A
# il = & Wi s e 8
AT Fala g | s s
Sie H H,S % S e & e 2ol
wau T 2 | 9 550 T e i

(A} Hgs (B) Ag*
(C) Cu* (D) Phet
131, @i T WWW&
T R A HZ
(A} 30,0+ (B) 3.1,-1,42
(C) 4.0,0,+% (D] 4.1,1.4+%
132, CO,CN # NO* % &fe & agm dfres §

(A T EE A A wseEe
(B) =9 %0 717 30 Toan g9 e
(C) &3 &1 3 n- wfir

(D) FHEEEEE & EHEn g s

133.

134,

135,

1436,

137,

JDD-66/PGT-CHEM/ TIER-I/X-15
et < & vien vl =0 faas
T AT B
(A) o Si @ fieet fEfa 4 sqam A

i e
(B) sz d s Sid sftm e
(C) Toreps Si 8 @ %1 799 T
(D) >3 = Sis a7iE )
e
qr2ffeem i seaar SRR o am R
Bt B | Beee stwn % uas T
AT = afrndi-wEie wm A e
Fiet 3 :
(A) =T (B8) =&
(C) 3@ (D) =W

Tfe v Bree & g T R
a=0.562 nm. b=0.741 nm, ¢ = 0. 988 nm
ah o =m". |:!.: E‘]'TI Tg-mnl mm o~

Ay = (B) @weEaRh L0
(C) VAT (D) T

=1 4 & e wfeat = ) o

E ARl e 7

(A) Fetszi sifimeEm

(B) fr3masta

(C) S5 Ireat

(D) Uizl 3aa

1y, = 3 fertaet o a feasifea s
AR 3o o) 12 R F
HE WS F3 g BT TR o ) A w5

TER w7
{A) 1129 (BY 13649
(C} 48¢ (D) 129

Page- 30

]


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

A testbook

JDD-66/PGT-CHEM/ TIER-IVX-15

138

139,

140,

141,

142.

In & nuclear fizsion reacton

(A) two light nuclet combine fo give a
fairly heavier nucleus

(Bl & heavy nucleus splits into two
fragments by itself

(C) a light nucleds bombarded by
thermal neutrons, splits

(D) a heavy nucleus bombarded by
thermal neutrons, splits

Solid potassium chloride is a poor
conductor of eleciricity because

(A) potassiumand chloride ions do not
conduct electricity

both ions cccupy fixed positions in
golid stale

both ions have uniform fields of
influence

the charge on the lons is uniformiy
distributed

(B)
(C)

{8}

With increasing quantum number, the

enargy difference between adjacent

orbits of hydrogen atom

(A) Increases

{B) remains constant )

(C) first increases {iollowed by
decreases

(D) decreases

In an atomic ﬂﬁi the sign of lobes

signifies

(A) sign of the wave function

(B) sign ol the charge

(C) sign of probability distribution

(D) presence of efectron in positive or
negative direction

The compound containmg compauntd with
+2 as the gxidation state of oxygen, Is
(A) HaOy {8y CO,
() MnQ, (D) FO

GET ITON
® Google Play

143.

144

145,

146.

147,

148.

Rate of diffusion of a gas is

(A) directly proportional e its density
(B) inversely proporional (o the sguare
roal of its molecular mass

directly proportional 1o the square
root of its. molecular mass '

directly proportional 1o its molecular
maas

()

(D}

The temperature at which root mean
square velocity of oxygen gas becomes
aqual to that of sulphur dioxide al
J2Te G s

(A) 27 C (B) 835" C

(C) 65420 (B 327C

The valué of Van der Wall's conatan
& for the gases CO,, N, CH, and O
are 3.640, 1.390, 2.253 and 1.360 L
atm. Mol =, respectively. The gas which
can bz most easily be liguafied is

(&) O, (B) CH,

(C) Ny (D) €0,

A semipermeable membrane used i

tha measurement of psmolic pressur

of a solution allows the passage of

(A) solvent molecules through it

(B) solute molecules through it

(C) both solvent and solute molecu
through il

{0} none of the above

Which of the following colligat
properties is used to determineg |
molecular mass of proteins 7

(A) Relative lowerng of vapour

(B} Elevation of boiling point

() Depression in freezing point
(D)} Osmotic pressure

What volurme of 1.0 MHCI mustbe a
to 500 mL of 0.50 M HCY 1o gi
anlution whose concentration is 0.6
(A) 12.5mL (B) 25 mL
Gy 2.5mL (O)y 10 mL
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138.

139

. 140.

141

142

At fraves sl |

(A) BB et T T AT

. AfFmsmEa

B) U+ ﬂmnﬁﬁawmﬂmﬁﬁa
Elai

(C) = wel e i Al E

| d@nAdz w2
(D) T AT AR I g & e
C Barammd

318 TETHEH FaRES He HYd # FEE

A B E, HIE

(A) TR A ¥ weE
CIGEEGERE

(B) st drw s i g T
ST B

(C) =il Sl & v 6S UFAn e ©

(D) SR TR o i Pl e e 8

S U A § BT T e

] o w1 w1 ] ST

(A) TEaTE

(B} FEmwms

(C) e = 1 A T SR o

(D) 4 EETR

TR SEE e i Ha S iE e

(A) T T4 F1 HEA

(B) AR F1#EE

(C) AufE "ved i ek

(D) & = 0 TEwm geriania &1 el

s fad i s oy d y2 1=

Fitear o) e el w1 e Tw e
(A} HiO, (B) €O,
(C) MnO, (0} F0

143.

144,

145,

147,

%1 % WO o 21 R R
(A) FEE e N
(B) T 3iveg FO0F & ¥ 4H &

b - -
(C) T8 Fiva Zau = 1 e o |

HErE
(D) FEeh aqTivEa geree o T EE

ST T 8 e ey T A 3 AT
T Bl SFIGEIEE 8270 C AT 9t

Forerm e @ 353 ST g 8
{4y 27°C (B) 163.5°C
(C) B54°C D) 327°C

GO, Ny, CH, MO it % R Fa =

3lE # & ‘a1 e T 3.640,
1.390, 2.263 37 1.360 L2 atm. Mot2 |
Lo 0 T B o o i 3 i e
(A) O B) CH,

() N, (D) €0,

i o W =R o et 3 e
Erﬁna:rawmmﬂavfﬁaﬁuﬁ‘aﬁﬁr 1Y
e AT 8

(A) T STT]

(B) Taerg zm

() Tt afn facr s 9

(D) ST FFE A

wifen & snfrea gegam FaRm & fom e
A i s F IEm a7

(A} T TS ] e i ]
(B) FHEEEE A

(C) Tem=d s

(D} wrETe 2TE

50.0 mL HCHE 1.0 M HC! = Tt o,

Tt gt o s S |TEan 0.6 MERT ?
(A) 12.5mL (8] 25 mL
(G} 2.5 mL (D} 10mL
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149. The freezing point of an ether sample
was lowered by 0.80° C on disgolving
2.0 g of simple phanol In 100 g of ether
The value of abullioscopic constam for
the system is 5,12 Kkgmoi™ . The resuits
indicale that phanal in ethar is in the
(A} dissociated form

(B) dimerized form

(C} undissociated form

y (D} chemically combinad form

150. For the equilibrium, 2N,0:(Q) &

4NO,{g) + Oylg), which of the foliowing

s comect 7

(A} K=K,

B) K<k,

(C) Ky=> K

(D) K;and K. cannot be correlated
unless pressure of the system is
provided

151, Salids CaCO, and Ca0 and €O, gas
are kept in a closed vessel and allowed
to reach equilibrium. The quantity of Cal
in the vessel could ba increased by
(A) removing some of CO, gas
(B) adding mbfe of CaCO,

(C) lowering the¥emperature
(D) reducing the volume of the vessel

182, The equilibrium constanl of the
equilibrium :  S0.lg) + ¥20.lg) <
SO4(g) Is 4 = 1073 atm Y2, The
equilibnum constant of the aquilibrium:
2504(g) <> 2S0,(g) + O,(g) would be
(A) 250 atm
(B} 6.25x 10*atm
(C) 4 x10% atm
(D) 0.25 % 10%atm

A

GETIT ON
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153, The pK, of an agueous solution is 13.54
at 50* C. 1 the solution has pH = 7.0,
then the solulion is
(A} alkaline
(B) acidic
(C) meutrad
(D) canmot be pradicted

154, Anagueous solution of sodium cyanide
has the pH
(A). greater than 7
(B} less than 7
{C) equalto?
(0) outsidethe range of 0 — 14

156. The pH ohMg(OH), is 10.45 at 298
The sclubility product of magnesium
hydroxide would ba
(A) 224 1071%

(B) 3.36x107"2
) 1.12x 19!
(D) sE0x 107

156. Phenolphthalein is used asan indicatol

in the titration of P,
(A) acetic acid against golassiu
hydroxide

(B) hydrochloric acid againsg
ammonium hydroxide
(C) formic acid against ammoniu
hydroxide
(D} oxalic acid against polassiu
permanganata

157. The addition of sodium acetate to 0.18
acetic acid would cause
(A) decrease in its pH value
(B} nochange inits pH value
{C} increase in its pH value
(D) neutralization reaction

158. Which of the following acts a5 a Brons!
acid gz well as Bronsied base 7
© (A) NayCO, (B) HCO;

{C) OH~ (D) CHL GO0
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A O R0 T 0 AT O

149,

150,

151,

2.0 g AT SAate 1 100 g3 ¥ wie
# U U AY9e T feMiE 0.60° C w9
gmma%aaﬁ:rﬁmﬂif&ﬁmmﬂﬁq
5 12 K kg mol=1# | uftom ewia 2 =

(B) et fEif
(Cy =eiermm el
(D) Tt e feaf

2NLO:G) <= ANOL(g) + O.lg) 78 et

# oG da snad @ e

(A) K=k,

(B) K, <K,

(€) K > K,

(D} K, 3 K, %1 w7t R o
Hefel] o9 F 790 1 20 SaA T

ElGl
CaCO, 3R Ca0 3 3 CO, fa v
@< 7E H @ ¥ s 3% wge Hﬂﬂﬂ'—!

EIEE rmﬁiﬁmﬂm#mﬂiﬁﬁ Ei
(A @Gﬂzﬁqﬁmmg
(B) CaCO, % At e e
(D) T T A e fe S

. 80.(0) + ¥20.,(g) e S0, (g) TH A=e™

1 F=e FETF 4 x 1072 st 1R 8 |
2504(g) « 250.(g) + Oslg) Fe= =+
{A) 250.atm

(B} B8.25%10%atm

(C} 4= 10%atm

(D) 0.25x 104 alm

153,

154,

155,

156.

157.

158.
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50° G WL T AT I 1 pk, 13542 |
it T pH = 7.0 2 a1, a8 Hie
(8) wAeFlEE

(B) sty

(C) Fad

(D) Tuife 7 fen siawa

Hifeam HreE & Sl O = pH 2
(A} 7 H 370E

(B} 7.8 =%

(C) 7% T

(D) 014 ¥t st

298 K W Mg (OH)g = pH 10.45 & |
drafen SErmTER T e AT RS B
[A) 2,24 x 10712
(B} 3.36 xa0nid
{C) 1.12%10
(DY) 5.60% 1010

TR e e Ty 2, e o
EX s bk

(i) witfes s % wlaege Tl
PR

(B) Betawiiivs a1 & ultege mnﬁzm |
2EEEEe

(C) it st & wfega smifam
(D) et aTes % gl Tt
HHTHZ

0.1 M ufafes s 6 wifeem ofiz fem
#HE

(A) FHE pH YFa T e

(B} pH Hea ¥ =iE qitEa= = i

(C) 3%h pH T2 1 325

(DY FareiE s

fon o =y e v i sl
i1 i sfew Fora 8 7

(A) Na,CO,
(C) OM—

(B) HCO,
(0) CH4CO0-
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159.

160,

161,

162,

Which one of the following sfalaments
is incorrect 7

(A) Silver ehlornide |s more soiuble In
vary concaentrated sodium chlonde
solution than in pure waler

The solubility of Zn{OH}. is highar
in acidic-or basic medium than in
neutral mediim

The acids HCIO,, HNQ;, HCl and
HBr appear to have same strength
in agquenus madium

pH of pure waler increases with
increase of lemperature

(E)

(€

(D)

The solubility of calclum arsenate in
waler is 8.0 x 10mol dm~'. Then, its
solubility product s
(A) D107
(C) 28% 10710

B) 4.6x 10"
(D) 84=x107

The products of combustion al

ethanethiol, C,H;5H al 298K are

(A} CO{g}, CO,(g), HJO) and SO.(g)

(B) COAG), H.O(l). SO,(gyand SOy g)

(C) COig), COg), HO) S0, (g} and
S04(g)

(D) CO4{g), HeO(1) and SO,(g)

=

Which of the felfowing thermochemical
equations correspands (o the definition
af enthalpy of formation at 288K 7

(A) Cl{graphite) + 2Ho(@) + 1 Oa(g) -
CH,OH (g AH"

Clgraphite) + 2H.(g) + % O.lg) —
CH,OH (/) aH®

2C{graphite) + 4H,(g) + Oulgi —
2CH,OH (g) AH°

Cldiamond) + 2Ha{g) + ¥ Oulg) —
CH4OH (1); AH°

(B)
(C)

(B}

GET ITON
® Google Play

163.

164,

165

166.

For which of the following aquations,
would AH be equalte AU ?

(A} 2NOQ.L(g) — NO,l9)

(B) 4NO.{g)+0.lg) — 2N.O:lg)

(C) Hilgh+ % Qa9 - 2H,0(/)

(B) Halg) +lalg) —2HI (g)

The band enthalpies ol H — Hand Cl - Cl
are 430-and 242 kJ mol, respectively
It AH; of HClis — 91 kd mol™, then the
bond enthalpy of HCI would be

(A} +427kdmor! (B) —427 kdmot!
(C) +2148kdmot! (D) —214 kdmol

Which ane of the following statement
is false 7
iA} In an endothermic reaction, 1
total enthalpy of products 1= gred
than that of reacianis
The calorific value of g@;t'_iﬁlgi
than that of a carbohydrate
(C) The standard enthalpy of Bra(g)
laken to ba zero at standat
conditions of 298K a
1 atmosphera pressure
The magnitude of enthalpy
neutralization of a weak acid
smaller than that of a strong ac

(B

(D)

The unils of rate of a reaction and
constant are same fora

(A) fractional order reaction
(B) flirst order reaction '
(C) second order reaction
(D) zaroorder reaction
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150, o | sy e 7
(A} oo Tt s T wife
| AERmEEH AT Hem 21 i gE T A
(B). Zn{OH), = e sweia @1 &
TISHH H FavH w8 srieg
(C) =il W= § HCIO,; HNO,, HCI
3T HBr 5 3T TR T ST
hRIEInIE
(D) I e € s e pH i &

dreaferm are o o faeta
6.0% 1073 mol dm 1 81, Zer famtaa
T 8
(A) G.0x10%
(C) 28x10°10

Ta0.

By agx101!
(D) 94x107

. 29BKWLC,H.SH TR (ethanethiol
& T F IETE B
(A) CO{g COL{g), H.0( 3 S0,(g)
(B) CO,(g), H,O(1), 50,{g) #1 SO4(g)
(C) CO{g), COL(@), HO(/) SO,{g) 3l

S0,(g)
CO(g), HoO(!) #1 SO,(g)

208 K W "o o wlled| Ry ape ) e
A Ty e T A T R
! (A) Cigraphite) + 2H,(g) + % OL(g) —
CHLOH (g); AH®
Clgraphite) + 2H(g) + % O,{g) —
. CH4OH (N AH
(C) 2C(graphite) + 4H,(g) + Oylg) —
. 2CH,LOH (g); AH?
(D} Cidiamond)+2H,{g) + % Oulg) —
CHLOH (f); AR"

()

162,

' (B)

163

164,

165.

166.
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T 0 T g & fBmoaH =8 AU

& T E 2

(A) 2NO.(9) — N2Oylg)

(B) 4NO.(g) + G';,!':Q} —+ 2N O}
(C) Haolg « % Oulg) — 2H,0(1)
(0] Halg) +1:(g) — 2HI (g)

H = H 3 €| — Cl Fraa odef smsr 430
i 242 kJ mot™! B FR HCI =0 AH,
- 91 kd mor ' &1, HOCI 7w vlimdi St
(A) +427kimol' (B} —427 kJmol
(C) +214 kdmalh (D) —214 kd mal™!

s d | it e s R 7

(A) S FE AR TR e e
SR & el & i we

(B) = e e mEieee & ety
T | i g B i

(C) 19w eE S o KFammg -
feafi m Bry(g) #1 we= giFdl
o= fern = @

(D) FHEN ST & SERER |
SHHETC Tk SR T
IR FRETe e 8
ER i &

stufem = 3R 8o & 1 =08 wis

o et EtelT

(A) W we s

(B) e R afhiE

(C) FEvER AR

(D) 5 s srfiEen
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167.

i 168,

188,

1710

A*

The hatf-ite of a second order reaction | 171.  Acalalystdacreases the activation
s E. -4 initil of the forward raaction by 30 &k mal™.
is refated to its rate constant and initia it also changes the activation energy of
concentration of subsirate as 1 the backward reaction by an armount
0.693 T (A) equal to thrice that of the forward
(A) g =—= __I:E:I P H[ﬁ.n—] reaction
l"”‘ J ? (B) equaltothat of the forward reaction
i ) — {C) which is determined only by the
(© fe=" B) vETra average energy of products
1 (D) whichis determined by the average
The graph of log & against T is linear energy of products refative o that
with a slope of (where k, T, E, and R of reactants
are rate constant, temperature; energy | 172.  For a first erder reaction, the time takan
of aectivation and gas constant, to reduce _rnrhal concentration by a
respeclively) tactor of }{ e 10 minutes. The tima)
E E required to reduce initial concentration|
=525 | -2
2,308 R by afaclor of ¥ would be
©) + Es D) + = (&) 10 minutes  (B) 20 minutes
2.303R R (B) 30.minutes (O] 40 minutes
: - 173, Which of the following statements is nal
The hydrolysis of an mgamc.aster was corTel With Tespect 1o faterogeneodl
carried oul separately with 0.1 M catalyst ?
hydrochioric acid and 0.1 M sulphuric (A} Most heterogeneousqcalalyli
acid. Which of the following will be true ? reactions involve the&h surface
of the catalysl _
(A Kicr > Ko, ¢ (B) A solid catalyst present in the
powder form is more effective as
(B) Krici <Kigsoy has targersurface area
P (G} The catalyst may be deactivatedt
(€) Kucr=1 Ny heating it to moderalely hig
-action does not take place lemparature :
(& Thﬁ X 5 (D) Heterogenaous catalysts prirmar
in boit e cases function by lowering the activaticf
anergy of the reaction
Consider a chem.tcal reaction: A - B 174, The increase in the rate of a raactd
In an experiment, when ihe with increase in lemperatura iz mainl
concentration of A is increased by 1.5 due to :
times, the rate increases by 1.837. The (A} the decrease in activation energ
Aertlith b vellh FasoBc o A 18 (B} the increase in collision reguent
i A+ g i (C) the increase in average enargy
B =1 (B) +1 reactants and products
{D) the increase in the numbery
(C) 15 (0) 2 molecules having threshold ene
-38-
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167. =m0 AiaEem = anl- sy = mean
3 =1 P i v o e wiE
HE
0.693

- 1
(A) ’l.fz-—}'_;— (B) ‘wa'=m
A ] k
S R
LE g R
b 1 . ;
168. log k & wFEs ?maﬂé‘ﬁ'{mﬁﬁrﬂ'ﬂi

aEn 7 w8 @k, TE, 3t R 3w
a9 72 o, A, wiEEgr & el

| i T e )
e b Ey
/T Ey
|| €} + 5 @) +3

189, 0.1 M BERRIfE 3w 3 0.1 Muemis
AV T TR T A e B He-SgEe
e P d d e g 2
(A} *hulh'ﬁwggu

(B) Fgi < k"'ﬂ'ﬂﬁ.l %7 \
:ﬁ}' I‘:-I-||.'.'-| = kHEE.I}Ii

(D) @l aemerert  fafEm e B 2

170. A —» B 22 i aiffie =) 2fian )
o i e A Y EEAT 16 T e

AR WA 1,837 @S ¥ | A u

| o ahfEn wiEn
(A) =1 (B) +1
{C) 1.5 (D) 2

171,

172.

173

174,
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U SV Sierd] s1iatha =1 S FHal

30 kJ mol™ & FH ST & | 78 T

axfuriean <t Wl = off 39 ofmm 3

HeEAE

(A) sl s3fa o iR A

(B) ST STTSTEGT o

(C) Ieam 61 ey &= W o 7 Faife
T R T

(O) 3 i wfrad el i s
e Fan = s E 7t Tt fen
] HeAT T

e e Eht arfifE E fom am s aney

Vo R e e T

® 10 firre | smfvis wigm Y o A

FH Wl o [0 T HHA R

(A} 10 fomz (B) 20 fire

(C) 30 fime (D) 40 fie

v e it P i @ e ey ¢

o8 B

(&) ETET e I iR s
 SrE P W e 2

(B) e ferta 0 aen s waEh S
& w1 o A T sl g 2

(C) Ir9TE =) grE Al T 9 aE
4 1 58 fAfehg e e R

(D) =iaiEa ) A@fea Hol FH F FH
et TaaT /@ FEIE 1 0 £

AT Hg4 @ arfufEm o ot aga 2,

] W E

(A) afEm w4 wh

(B) e o) wrgfn o wgn

(C) sthierre s sene o s sl i o

(D) e Fataret o i wem i =5
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173

1786,

17

178.

Which of the following statemants is
incormect ?

(A) The average velocity of reaction
increases with time

{B) A higher order,reaction may be
raduced to a lower order by taking
one of the rate determining reacting
species in excess amounts

A reaction with zero activation
energy is practcally independent
of tamperalure

(D) An aulocatalybc reaction s the ona
in which the reaction is catalyzed
by one of the reactants

(C)

Which one of the following statemenis
is nol true with regard to an electrolytic
cefl ?

(A) Cathode is negative terminal
(B} Cathodea is positive terminal
(G} Reduction ocours al cathode

(D) Electrons enter into cathode from
the exlernal call

During dischanging of lead storage cell
(A)
(B

sulphuric acid is'consumed

lead di
daposit &

Blves at cathode to
shlphate

lead dioxide 1= convertad 1o lead
sulphate al anode

sulphur dioxide is liberated at
cathode

()

i)

A current of 10 A is passed through 1 L
of 1 M HCI solution for 1 hour. What
would be the amoeunt of H ons left over
in the solution after the electrolysis 7
(A) 0.373 mol (B) 0.627 mol

(C) 0.187 mol (D) 0.813mol

GET ITON
® Google Play

178:

180,

181.

182.

In electrodeposition of a metal, the
quantity of deposition of a metal on
cathode depends on

{A) shapeof cathode
(B} size of cathode

(C) concentration of metal ions in
glectrolytic solution

quantity of electricity suppliad 1o the
cell

()

in which of the following cases there is
no evolulion of axygen &l anode whan
tha electrolysis is camied oul 7

(A) with dilute sulphuric acid using

Pt electrodes

(B} with fused sedium hydroxide using
Pt electrodes

(G} with acidic water using
Pl electrodes

(B) with dilute sulphurnc acid using

Cu electrodes Ha
:.-—'I.,' v i

if the standard reduction potentials of
Zn and Fe are — 0.76 and — 0.41 'V
respectivaly, what would be the emnf
the cell involving the reaction : Fe*|
+ Zn(s) — Znet{ag) + Fe(s) 7
(&) +035V (B)] —0.35V

(C} +1.17TV {0y =147V

Consider the electrode potentials ;

EMQ:'!"-"MQ =—2.37T¥ and

E- 5. . =-004V,

The best reducing agent is *
(A) Fat (B) Mg**
€} Fe (D) Mg
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0000 0 0
175. P ddSEm AR 7

176

)1??- &

| 178
© % T S e # ) T snpRA & W

(A) Tt ma e ST 9 o
i ﬁ@ﬁ?i

(B} = Pty FwS s af £
BB e B e e e e
a1 5 Sof} e o W e o

(C) TS Tl Sl ST e S
A o koo 2t

(D) TEReRE Aiufem § v Al
F g il safE e ?

TR e & A A E R

TELAR R 7

(A) SHTE TS HE R

(B HTE ST e B

(C) Hie T & BT B

(D) A e e H e v e

(B) @ ﬁimqﬂmﬂjmﬁ:rﬁi‘%’

(C) e TR B A 7 o1 R
T ufafie g g

(DY eite T e SIS ST

1 L% M HC| T840 A% e 1 912

syl s b A e e a7
{A) 0.373 mol {B) 0.627 mol
(C) 0.187mol (D) 0.B13mol

178,

180.

181,
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e o TR Fovd o Sheire it e 3 s
o) 777 g e
(A) SRS T SN
(B) =herE 1 e
(C) P crrereeft s i 7 o ST

kil

(D) e s Rt mg g

e e & a8 3 T

At o SiERraA % FAiaw T R 2

(A} PiEEERIE W1 IUEMER O R
e

(B) PycRRE o SR et g Hifew
FRE AR F

() PLUETERIE w1 3 = i o
FH

(D). Cu ST = TR0 T e ST

ol

a2 7n 3 Fa 31 T SI9=AF A9EA

¢ FEE:—0.76 AR —0.41 V2, 71 Fe?*(ag)

182,

+ Zn(s) — Zn®*{ag) + Fe(s) AN o

syt Hel & emi FEGAI R 7
{(A) +0.35V (B) —0.35V
(G} +1.17V (M —117V

R RETE L o, = paATV

ME 5 . =004 W R S

FE B
(A} Fed? (B) Mgt
{C) Fe (D) Mg
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183,

184.

185.

186.

A solution containing one mole per litre.
of Cu(NQg),. AgNO, and Hg,(NO4), 1s
being electralyzed by using iner P
electrodes separately. If the valuas of
standard reduction pblentials of Ag, Hg
and Cu are 0.80, 0.79 and 0.34 V,
respectively, whal would be their order
of deposition on the cathodes with
increasing voltage ?
(A} Cu, Hg, Ag

(C) Cu, Ag, Hg

Salt bridge used in tha construction of
voitaic celis is prapared by using the salt
(A Caicium chloride

(B} Magnesium nitrate

(C} Potassium nitrata

{0y Platinum chionde

(B} Ag, Hg, Cu
(D) Hg, Cu, Ag

Which one of the following stalements

is correcl with regard, ‘1o &an

alectrochamical cell 7

(&) Cellvoliage is an intensive p-r-:::p&ﬂ}l

(B} A positiva half-call potential implies
that the elemeanl can lose ils
ELEEI.[&@\r-mrE readily than
hydrogen™

(C) The cell poiential difference is given
by Emlr a: E.=_n:|dra Til Eca‘lhnﬂe
Always reduction reaction ocours

at ancde

(D)

The unil cell present in ABCABC...
closest packing of atoms, is-of the type
(&) hexagonal

(B} face-centered cube

(C} tetragonal

(D} primitive cube

L 2 ]

187. Which of the foliowing statements:is

188.

189

150,

GETIT ON
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carrect in the rock-salt structure of an
ionic crystal ?

(&) Coordination number ol eagh
cation and anion s siX
Coardination number of eath
cation and anlon s four
Coordination number of cation Is
six while that of anian is four
Coordination number of calien is
faur whila that of anion 1s six

|B)
(C)

(D)

An lonic campound is expacled to have
ocltanedral structure, if the radius

r

A, T 4
ratip, .~ lies in he range of
a

(A) 0.732to 0.820

(B) 0.414100.73:2

(C) 0.225100.414

(D) 0.15510 0.225 %
',

In the primitive cubic-unit csl| of closest

packed atoms, the radius of atom in
terms of edge length {a) of unit cell is

E &
(Al 3 B 575

e 4a
©F OF

Which of the following expressions
corract in case of a CsClunit cell whosé
edge lengths'a’ ?
a

(A) r.+ry=8 B) ro+r;= N

'3a a
{C) rc.Hrﬂ:."-E_ (DY e+ Tg= E
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183

184.

185:

Cu(NQy),, AGNO, #T Ha,(NO ), F 9F
i 0 ST ST e PrgeRE B 7
#H ey smedta fen s 1 3R A
AU FHTET 1 T Ag, Hga:fﬁﬂué?
fore o 0.80, 079 3 034 V &, @
Aeew o wEl O HATE T IAE TR
FH A 7

(A) Cu, Hg Ag  (B) Ag Hg Cu
(C), Gu, Ag,Hg (D) Hg,Cu, Ag

G 1 ITA FA, Aiedrh Hel o i
T v T A (ST B
(A) T e

(B) THHTA AR

(C) T AEeE

(D) e FRE

oo T HE A e A A

FUAEE R ?
(A) He T Aleesl 78 e Al o P
(B) TE HAEAE 376 W 6 WA

T B, e I Soiae, g
o Al g A i e

(C) e AWTET 370 ey B s 2
Em||=5m—5m;$

(D) #1F=aa &) ST w5 oE W
LR

ABCABC... SR % Toepzan o =

o amsaa T am sl

(A} SR

(B) T iz

(C) Sq=rmig

(O} q= =4

187.

188.

189.

180,
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sy Treet = Ti-Tiee Hoaa] | i

AT mE R ?

(A) BT SARH () IR (R
] HHEE S e

(B) ¥ 9TEA 3R SO W T
CILEAIE

(C) 959 1 9e=4 T 6 T 8 ah
SR ] JW BT 6

(D) STEA F A9 T 4 B B o#h
T FI TR BT &

afe et s 9 f g
Mﬂm%ﬁﬁmwm:ﬁmﬁ
Cihanif

(A) 0.732# 0.820

(B) 04148 0. 732

(C) 0.225 #0.414
(D) 0.155 F0.225

Frem fre T A T AR
RIS wet o 0 enad (a) o i s
|

& 5 ® 37

J3a 4a
s o ® 5
it st a2 e CeCl 39T Hel & T
ERE =R ar e e R LR e
[A} Matlz=4a |:E-}| .rc+l'a=iE
{E] rt'f'a=‘ll_2'§ {D} o+l = %
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181,

192,

a3,

194,

185.

106,

Two ions-A* and B~ have radil 88 and
200 pm, respectively. In the close
packed corystal structure of the
compound AB, whal is the coordination
number of AY7? '

(A) & (8 4

({C) 12 (D) 2

A binary solid has zinc bleng struclure
with ions constituting lattice and jons
occupying 25% tetrahedral volds. The
formula of the sofid is

(A} AB (B) A-B

({C) AB, (D) AB,

The fraction of velume occupied by
atoms in a face-centred cubic unit cell is
(A} 0.74 (B) 0.68
(G} 0.48 (D) 0.32

lonic solids are ganerally
(A} good condustor of electncity
{B} soft and elastic

197

198.

(G quite bnttle
(D) highly volatile

Gold number is the indax for

(A} protectjve, power of lyophobic
colloid

number of aloms present in one g
of gold

eleciroplated gold

protective power of lyophilic
collokls

(B)

1<)
(D)

Which of the following lons have
minimum value of flocoulating power ?
{A} Nitrate ions

(B} Sulphita ions

(C) Phaosphate ions

(D} Sulphate ions

124,

200,

GETIT ON

® Google Play
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Which of the following statements is
incorract with respect to adsorption 7
(A} Adsorption decreases surface

energy
(B) Adsorption always leads to a
decraase in enthalpy and entropy
of tha syslem
Adsorplion arises due 1o
unsaturation of valence forces of
alorns or molecules on the surface
ol adsorben!
Adsorption increases with increase
in emperature

{C)

(D)

Lyephilic sois are more stable than
lyophobic sols Decause
(&) thecolioidal particles have positive

charge

(B) the colloidal particles have negalive
charge

{C) the. colloidal particles are highly
solvated

(D) there is sirong etectrostalic

repulsions between the negatively

charged colloidal particles
The phenomencn called ‘peptization
invalves
(A) precipitation of colioidal particles
(B) conversion of precipitate to coliowds
particles
evaporation of disparsion medium
impact of molecules of Ih
dispersion madium on the colioids
panicles

(&)
(D)

Emulsion can be destroyed by
(A} the addition of emulsifier whios
tends 1o form an emulsion of |

same type

(B} electrophoresis with a higl
patential :

{C) adding a large gquantity o

disparsion meadium te it
continuous: shirring at
temperature

“:I:l Fed
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(C) 12 @y 2 T B i
10, TR STl e E s R o e (C) - SrfRraTYe = g AT A1 AY 4
srefieh s § s 259% wrgEneE e W & R S ,
Haie | va Smw g 8 HPE FH & .
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15

5.

17

8.

IMPORTANT INSTRUCTIONS TO CANDIDATES

Fed a6 o wevwegel S8

This Booklet contalis 48 pages

Please check all the pages of the Booklal
carefully, In case of any defect, please ask the
Invigitater far replacement of the Booklel

. Diractions : Each guestion or incomplate

slatement s followed by four allermalive
suggested anawers or completions. In each
case, you are required to select the one ihat
corraatly- answers the quastion or compietss
the staternent and blacken (@) approgriate
cirede A, B, C or D by BlueiBlack Ball-Poir Pen
against the guestion concamed in the Answer-
Sheel. (For V.H. candidates corresponding
circle will be blackened by the scribe)
Mark your answer by shading the approprigte
cirole agains! each guestion, The circie shouk
b shaded completely withoud leaving any space,
The correcl mathod of shading is given balow
Wi Methaad || Weng Mo Somed Mutid |
0@ =-'=_-3.J£;-_&£~J_=.;! Le00 |

The Candidate musl mark hisher responsa
after careful consideration

i Vi Mamcd |
9 L) 02

Thera is only one cormect answer 1o sach
question. You ahoukd blacken (@) the circle
of the appropriale column, viz,, A, B, Cor .
Il you blacken (@) more than one circle
against amy one question, the answer will be
treated as wrong, || you wish to cancel any
argwer, you should completely srase thal black
rriark in the circle in Tha Answor-Shest and then
blacken the circie_olrevisad rasponss:

A machineg will rég the coded information
in the OMR Answer-Shest. In case the
informafion i incomplétadifierant fram the
information glvan in the apphication farm, the
gandidature of such candidale will be frealed
as canceied.

Uise the space for rough work ghvan in the
COuestion Booklel oaly and not an {he
Answer-aheet,

You are NOT required 1o mark your answers
in this Booklet. All answers must be
indicated in the Answer-Sheet only.

11. WA |
12, W e & e e e R ) R
¥l v 2, o Ffters 38 el o aE
13, Fador . el yu ) WRlE g a0 o e AN

S S T R R | e ) |
Folt v = s R S O s W IS e
T A 3 s S -ThE W T
AR T A, B, C I D= e 3w
ufgz 99 Fe (@) e | (g
Taireant & e s wreman s o
wren Farm wm)
14, T I & g A ge s e s e
7 ol | T s wmeR B |
Fergifern =0 =0 ol Al e fnmn )

| A || adiadee
el {e)el s~ Selali=l Ysie) [#] Xejs]

STV ST ST 3 S T e S A
ferfema e =, |

16, W W e U A IR | 2
afaa wlem wwig A, B, Cw @ fiemen
T (@) H R |l e S e
a1 vg B e e =e v (e) @
AT 3 1T S v | Al s e g
T ) S B A S I - o
B ek e g e S e e e
o1t 3 Tero, VTR, T o6 e . |

16, =i mrwn, sa-uliw § o v 52 g
v waf et | af e sl 8 anear s
& ok n B fre R, W e R
apvapfid Fves amel anged |

17, e S T e we on B e
T L | Fe- g s SR A

18, 39 UfFrE! % st smaet e sifEn w5

[t || =

FAR mem—ﬁﬁﬁfﬂﬂi 1

Go through instructions given in Page No. 3 (Facing Page)

18-
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:_ED NOT OPEN THE SEAL OF THIS BOOKLET UNTIL YOU ARE TOLD TO DO soll

el 5 o TRreTie seme e sriiEe B | U T A S e i B ey ata el =

3. Itis-mandatory o strictly follow the instructions by the candidates

figm T Pl o S © TR e Wl st o Tore stiEEd

T Yi=1ehRT 2ht Wil a9 deh 9 Giel 5a 78 el 1 5

I POST CODE / W15 73 1 :
B [v2arz 52702, 16114, 162014 ]
i L |
| [ |
I - i
I QUESTION-CUM ANSWER BOOKLET =
: e :
. N
: JOD-66/PGT-CHEM/ TIER-II/X-15 e
' i
: DESCRIPTIVE TIER ~ I/ vfameass fegm - 1 4
- MAIN EXAMINATION/ 53 e -
i B
1
J Time Allowed : 1 Hour Maximum Marks ; SDI
: Bt gy ; 1 w2 stitEem =1 - 50l
"
= IMPORTANT INSTRUCTIONS TQ CANDIDATES i !
p |
1 It = foe aevagl S =
] B
| 4
i 1. Before making any enlry on Queastion Paper and QAB candidate-should count andg |
= check the no. of pages and it any discrapancy is seen then Invigiiator should be informiad
i immediately for another copy of Question Paper/QAB, :
i ye-95 dat QAR = ot v &1 g w13 % 0 anaf a:?:ig;ﬁ@::.ﬂ@ﬁﬁﬂﬂ'ﬂﬁﬂ?ﬁ#i
] =i e fene it e B formie B v e e s vm-ua QAR $ierdi vl e e |
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i) Essay (In English)

. Write an essay on any one of the topics given below 30 Marks
L a) Animals should net be used for drug development or medical research,
OR
b) A good dictator is better thar a bad democracy.
OR
| ¢) A day without cellphone al picnie.
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ii) Letter writting / Expansion of ideas {In English)
I Answer any one of the following ; 20 Marks

a) Recently you read an article in a national newspaper the views of which you do
1 not agree with. Write a letter to the edifor of the newspaper exprassing your

- disagresment,
| OR

) “Well bagum is halt done®. — Expand.
r. i OR

¢} Write a letter 1o a friend requesting him to accempany you to Mumbal where
you have 1o attend to some very imporant work, You have never been to Mumbai
bul your Triend has lived there earlier for four years.
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